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33661114 Slunwup 0,005% 24 Q< hwn 0 6000 0,0
33661114 bbuwnwuhy 0,005% 24; < hwun 450 4000 1800,0
33661120 Unp$huh hhnpnpinphn, 1%-1d; 24 hwwn 450 1200 540,0
33661123 Sphubwhpnht 2%-14; < hwn 0 500 0,0
33661136 Hhuwgbuwd 100q/24; < | hum 0 2000 0,0
33661135 Uhnwgnw 15dq 34 < hwwn 0 500 0,0
33691176 Upnbuyjuq 50dg/50; < hwun 0 140 0,0
33691176 Upnbuyug 504q/504; S< | hwn | 169000 60 10140,0
33611350 Uulynpphliwpepent 5%-5u; < hwun 0 12000 0,0
33611350 Uulynpphtiwppnt 5% 20( < | hun 355 12000 426,0
33611130 Uinpnwhip uny$win nidnyp 0,1%-14; < hwwn 55 3500 192,5
33621160 Udhunywwpnwppnt 250 d; < hwwn 0 990 0,0
33621160 Udhnlwwpntwppnt 250 4 9< | hum 1100 270 297,0
33631370 Unpwyniphnuwih plighywn 10dg/uj-2,54; Q< hwin 309,9 2000 619,8
33661183 Shuwwpwyniphnush plighywin 5dq/2,54; < hwuwn 0 1000 0,0
33661184 Shuwinpwyniphnuh phighywin 5dg/2,50; K hwwn 1008 500 504,0
33661115 Pnuyhdwluyht 40 < hwwn 214,8 1200 257,8
33691138 Syniyng 5%-2504; < hwwn 245,9 1200 295,1
33691138 Synihyng 5%-5000; < hwtn 255,9 4800 1228,3
33691138 Syniyng 40% 5u; < hwun 0 3000 0,0
33691139 Syniyng 40% 50y < hwn 37,97 1500 57,0
33661153 Hipuwdbpwgnt wiwlwpehy 104 Q< hwun 0 40 0,0
33661153 Hipuwdbpwant whbwlywpehy 104 < hwuwn 610 38 23,2
33661153 “Hipuwdbnwgnt 4dg/di-1dy < hwwn 23,4 10000 234,0
33671130 thdtuhprpwiht 1%-10; < hwwn 20,8 40000 832,0
33621400 “rowwuht 40dg/u; 541 < hwun 580 1500 870,0
33611170 Fnnunwdbphl 40ug/d; 20; < | hun 36,8 2500 92,0
33611170 Ypnunwbphl 40dg 3<_ | hun 0 1200 0,0
33631310 “Hhyndbiiwy 75 g 3u < hwwn 67,8 12000 813,6
33651127 “npuhghlyihtih h/p 100dg < hwwn 133,19 1000 133,2
33621760 Euwwuphy 10dg < hwn 4,85 15000 72,8
33691202 Enwdghjwn 250dq/; 20 < hwn 150 7000 1050,0
33621290 EwhUb$PhU /wnpbluhl/ 0,12% 15 < | hun 80 2000 160,0
33611370 Fhwdh pinphn, 50dg/d 14y < hwwn 26,9 5000 134,5
33661113 (Fhnublinw| bwinphnud 1,0 < hwwn 2840 480 1363,2
33691141 Apuwdht pdolwlwl < | hum 0 8000 0,0
33661110 han$ynipwl 2500 Q< hwn 0 200 0,0
33661110 han$ynipwts 1004 < hwtn 7449,9 800 5959,9
33691176 hunndbnwght dndhly Q< hwun 0 480 0,0
33631283 Lhghtnwnh; 10dq < | hwn 125 4800 60,0
33661116 Lhnnyuwjhth hhnpnpinphn, 2%-204; < hwn 756 500 378,0
33651138 Lundinpuwighti |- b/t 0.5% 1004 < hwwn 0 600 0,0
33651138 Lun$inpuwghts 1-p b/ 0.5% 1004 K hwn 1019,9 200 204,0




33651138

Lun$inpuwght nhin 500dq < hwwn 78,8 2000 157,6
33611420 “wighnwh qyniyntiwin 10%-54 < hwin 88 2000 176,0
33691134 Ywihnwh pinphn. 4%-2004; q< hwn 468,8 300 140.6
33691213 Yhunwuh Ywpbwppyuwhl pwlwntiphwlitip / Lwphtt 9L hwwn 0 6000 0,0
33651212 Cwlwihwynwgiwl wuwinnpupl 0,54 q< huwtn 550 600 330.0
33621100 <buwphl 5000uy/; Sd; < hwun 0 16000 0,0
33621100 <bwwpht 5000uy/d; 5u < hwn 938 8000 7504,0
33691814 <pnnopuhtehy oujw 6%-5004 < hwwn 3500 210 735,0
33621610 Uwthwnn| 10%-4004; < hwun 850 350 297,5
33691218 Ywiqbqhnid wupuusinl oGP, Gang ¢ | hun 480 1500 720,0

wuwwnwnwinh htdhhhnpwn 104

33691145 Uwqubighnul uny$uwin 25% Su| < hwwn 28,45 8000 227,6
33661127 Utnwihgn| twnphnud 50% -24; 9< hwwn 37,6 40000 1504,0
33611160 Ubunlynupuwihn 5q/d, 24, < | humn 411 12000 4932
33691112 Utinpnuhnwgn 1004 G< hwn 199.8 10000 1998,0
33651139 Unpuh$jopuwght wltwlwphy 0,5% 50 < hwin 1199,9 40 48,0
33651139 Unpuh$opuwghti 2504 §< hwn 0 1800 0.0
33691154 8nhtipun| 1004} 3L hwwn 8650 1000 8650,0
33691154 Snhbipun| 504, < hwun 4900 2000 9800,0
33691157 Snnhpuwling 1004 < hwwn 0 180 0,0
33691136 Luwnphnuh pinphny 0,9% 2504 < hwn 0 36000 0,0
33691136 Luwnphnuih pinphn, 0,9% 2500 < hwn 221,6 18000 3988,8
33691136 Lwwnphnuh pinphn, 0,9% 1004, q< hwun 0 19200 0,0
33691136 Lwunphnuh pinphn 0,9% 1004 q< hwn 215,6 9600 2069,8
33691136 Lwinphnudh pinphn 0,9% 5004 < | hum 0 45000 0,0
33691136 Lunphnuh pinphn 0,9% 5004 < | humn 27,4 | 22500 5116,5
33691136 Luwunphnudh pinphn 0,9% 10004 < | hun 0 24000 0,0
33691136 Lwunphnudh pinphn 0,9% 10004 < hwn 268.8 12000 3225,6
33691136 Luwwnphnuwh pinphn 0,9% 30004, Q< hwwn 0 150 0,0
33691136 Luwunphnuh pinphn, 0,9% 30004, 9L hwn 1500 45 67,5
33691129 Luwnphnuh pinphn, Yuwihnuh ephn.yuighnuwh pinphn 5000; | 9< hwwn 0 24000 0,0
33691129 Lwwnphnuh pinphn, Yuihnuh pinnhn,Yywighnwh pinphr 5000, | 9< huwwn 2274 12000 2728,8
33691129 Lwwphnwh pinphny, Ywihnwh pinnhn.Ywighnuwh pinphn, 2504, | 9< hwin 2273 1200 272,8
33691135 Lwuphnuih phwppntwin 8,4% 204 < hwwn 0 800 0,0
33691136 Lwwnppnuh phljwppntiwin 8,4% 204 < hwun 1008 200 201,6
33691133 Lbipwpldwl gnip 30004 < hwwn 0 1400 0.0
33691133 Lbipwiplydwl gnip 30004 < hwwn 1500 450 675,0
33621330 Uhltipwdhn 25%- 20 < hwwn 0 1500 0,0
33621330 Uhlbpwdhn 25%- 20, < | hun 178 280 49.8
33611390 MNhphnnpuhl hp 5% 10 < | hun 0 15000 0,0
33631350 Nhuyblynentihnudh ppndhn 4ug/20; < | hum 0 3000 0.0
33631350 Mhwtlnipnuhnuih ppndhn 4dg/2d < hwun 1037,53 1500 1556,3
33631230 Tndhnats jnry 10%-10004; < | hun 0 300 0,0
33661170 Mpnluijht /Lndnluiht/ 0,5% 2504 < hwun 504 120 60,5
33661181 Ulindynipwl 2504; 9< hwwn 0 80 0,0
33661181 Uun$ynipwl 2504 < hwwn 37780 40 1511,2
33631360 Unipuwdbipnihnud 2% 54 G< hwtn 189.9 2400 455,8
33621730 bpwuwdhy 0,25% 24 < hwwn 100 300 30,0
33621240 Shwlynpwiwiht 5004lg 14 < hwwn 0 3000 0,0
33621730 Shuwitlnpuwdhl 500d4g 14, < | hum 26,9 1000 26,9
33691236 Linpnyhpwihth hhnpnpinphn 20dg 14 < hwwn 107,5 600 64,5
33611100 Odbwpwqng 200g < hwwn 0 30000 0,0
33641100 Opuhunghli |-p SUU7| 14 < hwun 177 4800 849,6
33691191 Snudnihuhnubp/kubghwy/5a < | hun 630 400 252,0
33691823 Snpdwinbhpry/indnyp G< Yg 0 1200 0,0
33691823 $npuiwinbhhn/indnye q< Yg 350 1200 420,0
33651245 Shghinwpht 1000dg < hwun 0 150 0,0
33651245 Qtighuiwphl 1000dq < | hum 9999,9 50 500,0
33651227 Twlwppwaghti 200dq < hwun 0 100 0,0




33651230

’}opunnmphghh 2dg/u| 254 < hwn 0 200 0,0
33651230 Topunnniphghti 2dg/u; 254; < hwwn 7950 30 238,5
33651231 kwnnwnghny 100dq/5u; < hwn 0 200 0,0
33651231 funnunghn, 100dq/50; < | hun 3699.9 50 185.0
33651243 Muwlhinwpub 100dg/16,7 b q< hwwn 0 400 0.0
33651243 Muwljhinwpuby 100dg/16,7 U < hwin 9000 100 900,0
33691280 Shuwwwnht 0,5 Ug/d 1004 9L hwwn 0 200 0.0
33691280 Shuuywwnhli 0,5 dg/dj 1004 < hwwn 7999,8 50 400.0
33651248 Opuwhujjwinhl 100dq < hwun 0 150 0,0
33651248 Opuwjhuywinhl 100dg < | hun 7986.6 50 3993
33651241 Suinpnipwgh; 500dq < hwwn 0 150 0,0
33651241 Sunpnipwghy 500dq < hwn 3799,8 30 114,0
33661131 Sblnpwpphiw nhin 100dq < hwwn 0 102 0,0
33661131 Sbunpwpppunwy nhin 100dg < hwwn 20 100 2,0
33691176 Ughupndhghts opwinuily 200dq/54; 37,50 < | hun 0 30 0,0
33691176 Ughuipnihghl opuipuil 200dq/50) 37,50 < | hun 2400 16 38.4
33651163 Udhlwght 500uq/2u] 9 | hun 0 100 0,0
33691176 Udhtnytl ht$wln 1004, 3< | hun 4080 40 163,2

Udopuhgh{hu/ 30
33651111 AR unli 1-ph 6004 Q< hwun 0 0,0
33651110 Udwhghihti 0,5 < | huwn 215 1000 215,0
33651110 Udwhghiht 1,0 < | humn 255 1000 255,0
33651111 Udopuhgh(ht/pludnywliwppnt uny.1000ug+200dq ac Cii 0 200 0.0
33651111 Udopuhgh|hty/pjwinywlwpepnt und.10004g+2000q ac huin 1200 100 120.0
33611350 Uulynpphlwppent, nnunngnhn Q< hwwn 9 1000 9,0
33691728 Ybignt futid, putipn$npd 40q <L hwwn 218 40 8,7
33631210 Phwnwdbpwgnt punip 1dg/q 15 9L hwtn 0 20 0,0
33631210 Phunwdbpwgnt punip 1dg/q 15 < hwun 900 10 9,0
hupwinpnwhnwh ppndhn, $EUnnEnn; (e gus. 261dyg/d)+ 100
33691176 i - 5‘?’?%%/&'{‘1 2?;)‘ i < hwwn 0 _ 0,0
wpwinpnughnuh ppndhn, $Eunnbpn e 2. I+

33691176 500dla/dL. 204 < hwwn 2700 135,0
33611472 Sihgtipny dndhlubp ninhnwnhpwihl 1g < hwwn 12,9 2 000 2258
33611472 Shgtipng dhlpnhngliw 54; < hwwn 104 1500 156,0
33611472 Shglpn; dhlpnhnglius 100, < | huwn 119 250 29,8
33691138 Synihng 5%-5000) < hwwn 0 15 000 0,0
33691138 Syniyng 5%-5004; 9< hwwn 247,8 6 000 1486,3
33691208 Syniynqui (nkiputnpng) 100ug/; 1004 RS hwwn 0 800 0,0
33691208 Syniynqu (nliputnpng) 100ug/dy 1004 9L hwn 480 750 360,0
33691208 Syniynqu (ntipuinpng) 100udg/d; 5004 <L hwun 0 300 0,0
33691208 Syniynqui (nbipunpng) 100ug/d 5004 9< hwwn 580 120 69,6
33671124 Snppwihght, qbpuwdbpqul;l;uuhwl{wph[bhp 3dg/dy+1dg/dy; ac hutn 1197.9 20 2.0
33631310 Yhlynpblwl uwﬁﬁluh Gnuhly 12,50 < | hun 12,9 500 56,5
33631310 THhyin$tiwl winphnuh dndhl 25iq < hwn 12,9 500 56,5
33631310 Thlyindliiwy winphnui 10dq/q 50 nnunnn < hwwn 550 15 83
33691202 Ewnwdghjwwn 250dq < hwn 38 800 30,4
33691141 ApUwdhl pdolwljul < | hun 0 7500 0,0
33691141 @pUwdhl pdolwlul < | hun 3300 1500 4950,0
33631290 hpnuynn$tils opupuwly 100dg/5d, 1004, < | hun 0 250 0,0
33631290 hpnuypndbil opwipwly 100dq/5d; 1004 Q< hwn 700 100 70,0
33611310 hlunyht upbwinl wqnbgniejwip-104; < hwtn 0 30 0,0
33611420 Lhn$hjwgyws Ybunwlh jupliwppywiht dwuptutp < hwn 0 2000 0,0
33621100 “wighnuwih qyniyntiwwn 500dq K hwwn 0 1000 0,0
33691176 Yibdwunhl upy.1dg/2d; < hwwn 0 600 0,0
33141166 Lhwwphu punip 25q < hwwn 0 15 0,0
33621640 <hnpnlynpinhgnt pundy 10dg/q 15, 9L hwn 0 15 0,0
33631200 Rinpwidbthlny, dbphiniwghi &e | b a 300 00

punip 7,5da/q+40dq/q, 40q
33691112 Utnpnuhnwgny, pinphbipuhnht punip 1% 20,0 9< hwtn 0 20 0,0




33691176

Uopuh$iopuwghli -p 1,6dg/d},250 L < hwwn 0 450 0,0
33691176 Opuhdtinwgnihtih hhnpnpinphn 0,25dq/4; 104 S< hwin 0 40 0,0
33691136 Lwuphnuwh pinphn, (-p_10% 504 Q< hwwn 530 720 381,6
33651149 Lhuwnwwnhti 500000 U4 9L hwtn 15,7 400 6,3
33661122 Nuwipuwigtinwidng opwipwly 120q/5u; 1004 < hwun 399 20 8.0
33691176 Lungbiinhphghti Yuphitbp bbppht punnitduwt 5dg/u}, 204 q< hwun 2650 5 13,3
33651145 Mnihidhpuhl B , tbndhghts , nbpuwibpuwgnt prh uwnty 150, | 9< hwtn 0 A 0,0
33631230 Mnyhnnbi jnn,_punip 10 % 20g G< hwwn 260 30 7.6
33671113 Ywjpnunwdng gnnughp 1004lg/nnqu 200 < hwun 0 300 0,0
33671113 Uwipnunwiing gnquighp 100d4g/nnqu 201 < hwwn 1460 165 240,9
33691500 Spwltipuwdwppnt nhin 250dg < hwn 127 400 50,3

8t$nipopuhd nihy Uply 500

33651141 indnueh 750da. 104 < hwn 0 0,0
33661122 Muwpuwgbnwdng nhin 5004 < hwwn 6.5 5 000 325
33661122 Muwpuwgbinwdng dndhliubip 150dq Qc hwwn 50,9 130 6,6
33661122 Nwpwgtnwdng dndhlubp 80udq < hwwn 42,4 80 3.4
33631150 Shuyh opuhn punip 100dq 25q < hwwn 227,85 8 1,8
33651134 Shwpn$inpuwghti nhin 500dq 9< hwwn 28,9 3 000 86,7
33611120 Suwdninhnhl hnbhywgyws Upl (-ph 20dq 54| imidhy q< hwn 0 75 0,0
33611140 Olnwliutinpnt 2dq/uy 44 < hwwn 235 1500 352,5
33691192 Sbtiwgnt, jhnnluhu whwlwlwphi 5q¢ Q< hwwn 504 8 4,0
33651150 Syniyntiwgn| 504q Q< hwwn 0 120 0,0
33651150 byniyntiwgn| 504q Q< hwwn 116,84 70 8,2
33651134 Shupn$lopuwghti, nbpuwdbnwgnt Vywlunyp 10 9L hwun 0 4 0,0
33651134 Shwpn$opuwght, ntipuwdbinwgnt n/Ywfunyp 10 Ui < hwwn 2016 2 4,0
33671129 Lhunpnnipwy, nbinpwluwght, Phlwgnt whwigh Guiphy 54; < hwtn 0 2 0,0
33671129 Uhunpn$nipw, inbnpuwljwihl, $rliwgnt wlwlgh Ywph 54 | < hwun 315 8 25
33691226 Spwdwnny 100ug 20 §< hwwn 200 500 100,0
33691226 Spwdwnny/nbipuliinnupnb 75dq/250q < hwun 250 150 37,5
33661123 Sphubwhpnht 2% 1 < | huw 780 400 312,0
33621420 Unnpywunwinhl 40dq < hwwn 80 6000 480,0
33671125 Udppnpun| ogwpwly 100 4y < hwun 800 60 48,0
33671114 Udhun$hiht 2,4%-5 4y < hwun 48 10000 480,0
33621390 Udhnnuwipnb 150dg 3u; < hwwn 650 1200 780,0
33651163 Udhlwght 500ug/24; 9< hwwn 2440 120 292,
33691176 Uwhluwpwl nhun 5dq < hwwn 507 120 60,8
33621740 Udinnhuhts 10dg. < huwtn 10 6000 60,0
33651110 Udujhghihti+unypwljnund 10004g/5004q < hwn 3000 80 240,0
33661121 Ugbnhuwihghjwpent 500dq Q< hwwn 6 3000 18,0
33621761 Ugtnhuwihghiwpepen, dwqubghnuwh hhnpopuhn < hwwn 25 4500 12,5
33691153 Puwphnuwh uny$uwin thnph 100g < hwwn 200 240 48,0
33691189 Phwnwhhunhl 24dq < hwin 120 2400 288,0
33691811 Phuwlynnhy dndhl 100g 9< | hum 96 3000 127,
33621720 Phunujpnin; Sug < hwwn 30 12000 360,0
33621360 Shgtiph( inhihuinpwn/ uhwpngihgbiphts 1,54 < hwun 750 1600 1200,0
33661153 “apuwdbpwgnt witiwlwphy 104d] < hwtn 750 40 30,0
33621250 “Hipuwnpuwit 70 - 5000 Q< hwwn 2400 60 144,0
33621250 Tipuwnpuwi 40 - 5000 < hwun 2400 180 432,0
33631250 Epuwting pdylwliwl 96% < | jpunp 1200 500 600.,0
33621120 Euopuwwuiphl bunphnud 400000 0,40 < | hun 2400 600 1440,0
33611180 Lwlunyng 200 u < | hun 2300 40 )
33661116 Lhnnlwyhuh hhnpnpinphn. 2%-24; < hwtn 38 4000 152,0
33691192 Lhnnluiht_hhnpnpinphn, bwhtb$pht 204, < hwn 900 150 135,0
33691203 Lnquipunwl nhin 100dq < hwwn 52,5 560 29,4
33691213 Lhn$hjwgywd Ybunwbh Ywplwppywjht dwlptubp QL hwtn 131 2000 262,0
33691213 HbUnwlih Ywptiupedwiit puljntphwbbn / Luphut < | hwn 45 5000 2250
33691176 Ywppbininght 100dlq/d| 14 < hwwn 22680 10 226,8
33621690 Ywpybinhin; 25dq q< huwtn 50 2800 140,0
33631300 Ytnnugpn$b 500/ 2] 3< | hum 180 1000 180,0




33691176

Yibdwuwnh 1d; < hwwn 220 400 88,0

33621140 Zan th‘ /L‘l’l“"ihﬂ'éqnbl 7?30, . %< | hun 250 12000 | 3000,0
whw whnhubiyn whutnul
33621643 ; e J‘mm“‘wuht e ';‘(‘)’9‘6 uibhy Q< | fpunp 3400 200 6800
33621643 <‘“L'“’“‘"“W :";’;Z“h“““h“/ i ”"‘""“"‘”"‘h* e e | pm | 7200 40 288,0
Cwahthhklu‘u{lﬁlr?uhnthu/u mfumwhmhhz
g Shenqlibn/$nunwpwinthhny 20% hunwbinge 5004, il oo o e
Cwlwubtuhg/wlnhubwunhly/u whuinwhwuhg dhengutip/ N,N-
33621643 nhntighi-N-dbiphi-wnih(opuhtyehy) wdnthnwh wnpwyhnbwn, < thwp 13500 60 810,0
nhntight nhubhy wdnthnuh pinnhn, $bpdbluntibnh hudwihn
<wl{whbfuh§/whmhubu.|u1hl{/h whunwhwUhy Shongubin/
33621643 wn(hhbipuwdtph|bugnuwtihnhth hhnpnpinphn, N,N-phu(3- q< lhwp 8000 80 640,0
nwnni n
33621641 <wl4mhbh1h§/whulhuhu.|mhl4/h wiunwhwtihg ac hun 4500 60 2700
nqubin/HMiwwnninwguws kpwlng 1
33621641 T ‘““‘“"”"‘”;‘g“/: ':’:‘";‘““‘“"’ hanguty B 9< | hun 15 12000 | 1800
_Indunn hwptin
33621490 Ubphinnuw 2500 < | hum 45 1500 67,5
Utinwdhgny, bwinphnidwlul dnunhhnpwn, whinn$bunth

33661125 hhnanpin Buhybphbhnuth pondhn 20 9< hwwn 270 200 54,0
33621190 Ubbiwnhnbp bwinphnus phuny$hin 1%-1d} < hwwn 120 1200 144,0
33621700 Ubninwpning 50dq < | hun 18 3000 54,0
33651143 Ubipnwblibd 1000dq < hwun 4500 100 450,0
33641200 Uhgnupnuwnng nhin 2004l < hwn 180 1200 216,0
33641210 Uh$tuphuinnt nhin 200dq < hwwn 2756 60 165,4
33651139 Uopuh$jopuwght 0,16% -250u; < hwun 1500 180 270,0
33691170 Snupnufn, 1000 9< | hum 16500 300 4950,0
33691154 Snhbipun| 504 < hwwn 5500 2800 15400,0
33621750 Lh$linhuhts 10dq < hwn 31 5000 155,0
33691223 LunpnywphUp Guighnuwluwt wn 0,30 G< hwin 2200 600 1320,0
33691223 Lunpnuwphth fuighnuwluwl wn 0,64 < hwwn 3500 2400 8400,0
33691144 Luwwnphnuwh phnuny$uin 30%- 10d; < hwwn 55 4000 220,0
33691136 Lunphnuh pinphn 0,9% 30004, < hwwn 1500 150 225,0
33661147 Lbinuwnhquhti 0,05%- 14y < hwwn 60 1000 60,0
33611150 MNuwlypbwinht < hwwin 32 5000 160,0
33661122 MNuwpwgbnwdng 1004 < hwun 2500 160 400,0
33611470 MNuwlwnnypwgny nhin 20dq G< hwn 60 1400 84,0
33611471 MNuwbnnwpwgn| 40udg K hwwn 1870 50 93,5
33621480 Mbphunnwnhy nhin 10dg < hwn 96 1500 144,0
33691186 Mhpwgbuwidh 20%-5u; < hwwn 55 6000 330,0
33691176 Mpngbunbpnt 200dg. < hwun 360 560 201,6
33642210 MpbnUhqnint 5dq < | hwmn B 5000 40,0
33661112 Mpnwyn$ng upy. 10dg/u| 204 < hwwn 700 3200 2240,0
33621777 Nthywpopuwpw 15dg < hwn 750 1260 945,0
33621777 Mhywpopuwpwt 20dq. K hwwn 825 1120 924,0
33691200 Ubinghnubip A,B nhin < hwun 22 8000 176,0
33621620 Uwhpnlnjwljinnt 25iq < hwn 50 10000 500,0
33661181 Uln$ynipw 2504 < | hum 55000 20 1100,0
33661154 Stunpwlwiht 1% whtiwluwphi 104 < hwwn 2900 60 174,0
33631380 Snywbiphgnt h/p 150dq < hwwn 80 1200 96.0
33691500 Spwutipuwdwpent 204; < hwn 2350 200 470,0
33691500 Spwubipuwdwppent 500dg < hwn 208 600 124,8
33691176 Shywgpbinp nhin 904dq 3< hwn 830 56 46,5
33651116 St$wgniht 1q K hwtn 250 14000 3500,0
33651123 St$nuinwpuhd 1g < hwwn 400 8000 3200,0
33651141 SEpninguhd 7500g < | hwmn 1200 1000 1200,0
33651118 St$unphwpunt 1q < hwwn 150 24000 3600,C
33651134 Shujpn$iopuwghli whtiwlwphy 0,3% 104 < hwwn 700 40 28,0
33631241 Pinphbpuhnhth uwhpnwhl (2 < | fhup 1500 250 3750
33631200 annmd$bbhun[,dhphlmplughl punty 40q < huwin 300 240 72,0
33651192 08h wnihqwiblin hwlwpenyu < hwun 120000 1 120,0




33611120

Swdninhnht nhin 20dq < hwwn 28 8000 224,0
33611120 Suwiinnhinhl 20dg %< | hum 980 350 343,0
33651150 Syniyntiwgny 150dq < hwn 150 1000 150.0
33691176 bnipwghihtih punil 259 < hwin 250 200 50,0
33691176 Sbnipwghihih thngh 0,2 < hwwn 12 2000 24,0
33621230 Snjwppnt 5dq < hwn 4 4800 19,2
33691200 Uklinghnliin uu hwwn 20 2000 40,0
33671113 Uwipnunwin| gnnuighp uu hwun 2250 6 13,5
24111190 Udtuwppnt quq uu hwtn 5500 50 275,0
33651143 Ubipnyblb 10004q uu hwn 4900 10 49,0
33651126 Sbunwihght uu hwtn 67 600 40,2
33671113 Uwpnunwidng gnnuighp uu hwwn 804 60 48,2
33691800 Plwghgnuwp 100dg uu hwn 100000 1 100,0
33661112 Mpnwn$ny 10dg/d 204; uu hwwn 465 215 100,0
33611280 Shlyjughn MR nhuin 60dq uu hwun 96,2 300 28,9
33691176 bunndbwnwght dndhly yu hwwn 67,5 360 243
33621600 hunwwwdhn nhin 1.54dq. uu hwun 18,833 1800 33,9
33611260 Ubn$npdht 500dq uu hwn 20 3000 60,0
33621100 Ywighnuwh gyniyntiwin 500dq uu hwwn 22 500 1,0
Cunudblp 167025,3
PJTUULUL UUrLUMNPNRULER 64 MUPUSULER
33111100 (Fwyhl nblingbl uwpp < hwn 9300000 1 9300,0
33141136 Utunnpnghs Ywpbinp < hwwn 0 200 0,0
33141136 Utunnpnohs Ywpbnp < hwwn 6200 60 372,0
33141136 Utunnpnphs Yupbinp QL hwwn 0 900 0,0
33141136 Uhunnpnohs Ywpbiinp 9< hwn 8100 500 4050,0
33141136 Uhunnpnahs Ywpebinplbiph hwywpuwant < hwwn 0 700 0,0
33141136 Uhuunnpnghs Ywebinplibph hwdwpuwdnt < hwun 12400 400 4960,0
33141184 Upunnpnghs ninnnprhs hhpnhy -0,018 G< hwn 0 40 0,0
33141184 Uhunnpnghs ninanpnhs hhnpndhy -0,018 < hwun 16000 10 160,0
33141136 Uuwhpwghnt Ywpbiunp Q< hwwn 0 10 0,0
33141136 Uuwhpwghnli Ywpknp < huwun 105000 3 315,0
33141137 Puwinbwht upbnbp pupdp Goduwt 1 < hwwn 0 200 0,0
33141137 Pwintiwht upbinbp pwpdp 6odub 1 < hwwn 32800 100 3280,0
33141137 Puinbiwjht Ywpbnbp pupdp Gpuwl 2 9< hwn 0 300 0,0
33141137 Pwinbiwjhl Ywpbnbp pwpdp Gouwt 2 9L hwtn 31000 150 4650,0
3314137 Pwniwiht yupbinp 1 < hwn 0 220 0,0
33141137 Puwnuwhl fupbnp 1 < hwin 32800 100 3280,0
33141137 Pwinuwjht Ywpbunp 2 < hwn 0 300 0,0
33141137 Pwintwjht Ywpbinp 2 K hwn 31000 150 4650,0
33141137 Pwintwjht Ywpbwnp 3 < hwwn 0 50 0,0
33141137 Pwinuwjht Yupbinp OTW < hwin 0 S 0,0
33141179 Pdolwlwt hwywpwsniubp wlghngpwhhwih hwiwp < huwin 0 1200 0,0
33141179 Pdoljwlywl hwwpwdniubp wghngpwhwih hwdwn < hwun 19800 700 13860,0
33141136 Swjn Ywpkinp 1 K hwwn 0 600 0,0
33141136 Swin Yuptnp 1 < huwn 17800 300 5340,0
33141136 Swjn Ywpbinp 2 < hwtn 0 70 0,0
33141211 Shd 60ud < hwwn 0 150 0,0
33141211 Ttwunwlh ugnn huwy < hwn 0 50 0,0
33111310 Hinwywin unbn 1 < hwwn 0 260 0,0
33111310 Hinwywn unbn | < hwwn 89000 130 11570,0
33111310 Hinwwwwn unbtin 2 < hwwn 0 260 0,0
33111310 "Hinwywwn unbiin 2 < hwwn 95000 130 12350,0
33111310 “Hinwuwin unbtin 3 9L hwwn 0 60 0,0
33111310 Hinwwwin unblin 3 G< hwn 79000 30 2370,0
33111310 Hinwywwn unbn 4 < hwwn 0 30 0,0
33141211 Bypnn nhpdwywp dwiwbiwlwynp uwppbiph < hwun 0 2 0,0
33141211 Pt$yunnp 20/30wnwetiwht thwpbp Ynwhinang < hwn 0 400 0,0
33141211 hnbli$ywinnp 20/30wnwgliught thwpbip Ynuhjninng < hwun 10000 100 1000,0
33141211 hnbU$ywinnp thwpbpe 20 Sy L hwwn 0 50 0,0
33141211 PnbUywinnp thwpebpe 20 Uy < hwwn 6000 33 198,0




33141211 Pru$ywinnp hwpbp Ynwhinnnyg < hwn 0 100 0,0
33141211 Prbubywinnp thwpebp Ynyhinuny < hwwn 10000 50 500,0
33141136 hunpwnynuubp Sw6wbiswihu < hwun 0 1500 0,0
33141136 huunpuwynuubip Swéwlswht G< hwwn 10900 700 7630,0
33141136 hnpwnyniubp pbdnpuw 10ud < hwwn 0 250 0,0
33141136 Puwnpwnynbip $ldnpuwy 10ud < hwwn 10900 100 1090,0
33141184 “npnbwp ninnnpns 0,6-0,7q 9< hwin 0 80 0,0
33141184 U“npnliwp ningnprhs 0,6-0,7q q< hwwn 35000 20 700.0
33141184 Ynpnbiwp Juybip 0,4-0,5q K< hwwn 0 120 0,0
33141184 Ynpnlwp Jujkp CTO < hwwn 0 10 0,0
33141184 Ynpnlwp Juybip CTO 1 < hwun 0 5 0,0
33141184 Ynpnbwp Juybp CTO 2 < hwin 0 5 0,0
33141184 Ynpnbwp Jujbp hhnpnh; < hwun 0 500 0,0
33141184 “npntwp Juybip hhnpnghy 9< hwun 33000 200 6600,0
33141136 UhYpnywpbnp Ynpnbwp wunph < hwwn 0 5 0,0
33141136 Ninnpnhs uwpbunp < hwwn 0 50 0,0
33141136 Nunnpnhs Ywpebunp q< hwn 21000 20 420,0
33181170 Unjwl hnupwiht ghd < hwin 0 11500 0,0
33181170 Upjwb hnupwiht ghs < hwwn 1490 6000 89400
33181150 Shduwihli funwtyniph pwppphy G< hwtn 0 11500 0,0
33181150 Shduwjhl funwbnyeh pwppphe < hwwn 1350 5500 7425,0
33181120 Hhwihquunp 9< hwn 0 1200 0,0
33181120 “Huwihquunnp < hwun 3600 400 1440,0
33181120 Hhwihquwnnp < hwun 0 4000 0,0
33181120 “thwihquinnp G< hwtn 2750 1000 2750,0
33181120 “Hhwihquunnp XK hwwn 0 1440 0,0
33181120 “Hhwihquunnp < hwwn 3000 400 1200,0
33181120 "Hhwihquinnp < hwun 0 4000 0,0
33181120 “Hhwihquinnp < hwn 3400 1000 3400,0
33181160 BpYwiht funwlynye 9< hwn 0 2500 0,0
33181160 eqwiht funwlynye K< hwun 3250 1500 4875,0
33181160 Yhupnuwppyh unwtnge 9< hwwn 0 160 0,0
33181160 Yhunpnuwepyh funwlnys < hwtn 10000 60 600,0
33141149 Shunnywihl wubinutip qupybipwlwjht < hwun 0 9000 0,0
33141149 Shuwnnywjhl wubnubp quplybipwluw)ht G hwwn 195 5000 975,0
33141149 bhunnywiht wubnubp bpwluwht < hwwn 0 9000 0,0
33141149 Shunnywiht wubnubp bpwlwiht L hwwn 195 5000 975,0
33141149 Shuwnnywiht wubinubip qupybipwlwhts < hwun 196 2500 490,0
33141149 Shunnyuwiht wubnubp bpwlwht < hwwn 196 2500 490,0
33181120 Shywnp htidnnhwihgh uwpph < hwun 75000 15 1125,0
33141136 Ywptinbip hbdnnhwihgh < hwwn 0 50 0,0
33141192 Ubpwynulph wnwgwbipht wpgbijwthwldnr hwppwl < hwn 0 10 0,0
33141192 Ubipwynulph wnwgwtiphl wngbjwihwlynn hwppuwl < hwn 102000 5 510,0
33141192 Uupwlh Ywppwnp hwppwy < hwwn 0 6 0,0
33141192 Utpwlp Ywppwnp hwppwl 9L hwwn 102000 3 306,0
33141192 Pwgniynulph dninwlju wnqgbijwthwlynn hwppuwl Q<L hwun 0 25 0,0
33141192 Pugninulph dninwlw wpgbwhwldnn hwppwl < hwwn 0 13 0,0
33141192 Pwqniynulph |nphtq dbfu < hwun 0 10 0,0
33141192 Updniiytyniuh wpgbjwihwlynn hwppwl < hwin 0 4 0,0
33141192 Updniibiniuh wpgbwihwlyynn hwppwy Q< hwwn 0 2 0,0
33141192 Bwéwusnulph htinwGui intinfuwlwt wuljwip ac T 0 15 0.0
___wngbjwihwlnn hwppuwl
33141192 Bwéwlsnulph hbnwhuw thninfuwluwi wljwdp ac hwn 0 8 0.0
wngbjwihwldnn hwppwl
33141192 Ugnpnulinh U hwpewl Ubpwnjw| GEnprtwGwt ac hutn 0 10 0.0
wunnunwln
33141192 Uanpnulnh U hwppwl Ubpwnyu YEunpnuwlwl ac — 0 5 0.0
wununwln
33141192 Ugnnulph ¥<U_ hwppwih Yndwpbupnt wunnunwl < hwn 0 10 0,0
33141192 Ugnnulph #<U_hwppwlh Yndupbupnt wunnunwl QL hwtn 0 5 0,0
33141192 Ugnpnulyph hbnwlw npuwjht wnqbwhwlynn hwppwl < hwun 0 6 0.0
33141192 Ugnpnuliph hbnwlyw npuwht wpgbjwhwlynn hwppwl q< hwwn 0 3 0,0




33141192

Ut ninph dnunwlju npuwhts wngbwihwlynn hwppwl Q< hwn 0 10 0.0
33141192 U3 ninph dnuinwljw Npuwiht wpgbwihwlyng hwpewl L hwun 0 5 0,0
33141192 U3 ninph dnuinwluw Ubipuwh wpgbwihwlynn hwppwl < hwwn 0 10 0,0
33141192 Ut ninph dnunwljw ubipuwht wpgbwhwlnn hwppuwl < hwtn 0 5 0,0
33141192 UbS ninph htinwljw Uhguwjht wngbwihwlynn hwppwl < hwn 0 10 0,0
33141192 Ut ninph htinwyw dhowiht wngbwthwlynn hwppuwl < hwin 0 5 0,0
33141192 Lppninph htinwlyw Ynndbwhl wngbwthwlynn hwppuwl 9< hwin 0 20 0,0
33141192 Uppninph hbinwljw Ynnuiwhti wngbywih Yynn hwppwl < hwwn 0 10 0,0
33141192 ®npn wngbwihwlgnn 4nduipbupnt huippwly 3,5 63 ac . 0 10 0.0
wnunwltibph hwdw
33141192 Pnpn wpqbwihwhnn Yndwnbuhnt hwppwy 3,5 4d ac o 0 5 0.0
unnunwllibiph hwdw,
33141192 Ubn wpqbiwhwhynn Yndwpbuhnt hwppwl 4,500 ac huitn 0 10 0.0
ununwllbiph hwdw
33141192 Ubn wnqbwihwldnn Gndwpbupnt hwppwl 4,500 ac - 0 5 0.0
wnnunwltibiph hwdwp
33141192 Ugnpnuliph Yup6 wpnpuhdu dbfu Guihwphsny < hwwn 0 60 0,0
33141192 Ugnpnuyph Yupé upnpuhduwy dbifu Yuihwphsng Q< hwwn 0 30 0,0
33141192 Ugnpnulph bpywp wpnpuhdw dbtu Yuihwnphgny Q< hwwn 0 30 0,0
33141192 Uqnpnulyph bplywp wnnpuhduwy dbtu Yuihwphsny < hwun 0 15 0,0
33141192 Ugnnuliph wpnpupuug Ubluh 6,404 wunnunwl < hwwn 0 90 0,0
33141192 Uqnnulynh wpnpuhuwy dbtuh 6,400 wununwl Q< hwn 0 45 0,0
33141192 Ugnnuliph wpnpuhuwy dkfuh 8,004 wunnunwly < hwwn 0 90 0,0
33141192 Ugnnulyph wpnpuhdwy dbfuh 8,000 wunnunwl < hwun 0 45 0,0
33141192 Ut ninph nphtiq ubfu < hwwn 0 15 0,0
33141192 Ut ninph nphtig. dbfu < hwun 0 8 0,0
33141192 3.9 Ud |nphlig winnunwly Ubtuh hwdwp 9 hwwn 0 20 0,0
33141192 3.9 dd nphug wununwy dbfuh hwdwp < hwn 0 10 0,0
33141192 Ugnnulynh wpnpuhuwy dbfuh 4,900 nphUg wunnunwly < hwin 0 120 0,0
33141192 Ugnnulyph wpnpuhtiwy dkup 4,900 InphUg wnnunwly Q< hwun 0 60 0,0
33141192 2,404 wpgbjwthwlng wununwly < hwn 0 50 0,0
33141192 2,444 wpgbwihwlnn wunnunwl < hwwn 0 25 0,0
33141192 2,744 wuinnunwl < hwtn 0 25 0,0
33141192 2,7dd yuinnunwly < hwwn 0 13 0,0
33141192 3,504 wnghjwthuwly 1 uynlghng wwnnunwl < hwn 0 150 0,0
33141192 3,504 wpgbwthwlnn uwnlghng wwnnunwl < hwwn 0 80 0,0
33141192 3,500 wpgbijwihwlnn Ynpunhlw wuinnunwl < hwwn 0 100 0,0
33141192 3.5dd wpgbwhwlnn Ynpunhyw wnnunwly < hwn 0 50 0,0
33141192 3,504 Ynpuinpljwy winnunwly huplwpwlynn < hwwn 0 150 0,0
33141192 3,500 Ynpunhlw wnnunwly huplwpwlnn < hwwn 0 80 0,0
33141192 4,004 uynlighng wunnunwl < hwwn 0 20 0,0
33141192 4,044 uynlighng wnnunwly < hwun 0 10 0,0
33141192 4,004 Yulynywgyuwd uwnghng wunnuwnwl G< hwwn 0 40 0,0
33141192 4,004 Ywynywgyws uwnughng wunnuawl RS hwtn 0 20 0,0
33141192 4,500 Ynpunhluw wunnunwly hupliwpwlynn Q< hwun 0 80 0,0
33141192 4,504 Ynpunhlwy upnnunwl huptiwpwlynn < hwwn 0 40 0,0
33141192 5,004 wngbwihwlynn uyntghng wunnunwl < hwwn 0 100 0,0
33141192 5,0dd wpqbjwihwlynn uwnughng wnnunwl < hwwn 0 50 0,0
33141192 5,004 wpgbywihwlyng Ynpuplju winnuawly < hwwn 0 50 0,0
33141192 5,044 wpgbywihwlnn Ynpinpluy wunnuawl < hwun 0 25 0,0
33141192 7,0dddd Yndwpbuhnt unnunwl < hwtn 0 50 0,0
33141192 Pnpn Yndwptiuhnt hwppwl 3,5 dd wununwlubph hwidwp q< hwin 0 10 0,0
33141192 Pnpp Yndwpbupnt hwppwl 3,5 Ud wunnunwltibiph hwdwp q< hwtn 0 5 0,0
33141192 Lbin_ndwpbuhnt hwppwl 4,504 wununwlubiph hwdwp < hwun 0 10 0,0
33141192 Ubn_Yndwpbuhnt hwppwl 4,504 wununwlttiph hwdwp q< hwwn 0 5 0,0
33141192 Ubl Bppnpn mnlpmuwp:w:;pwu 3,5 Ui wununwllbph ac hwn 0 10 00
wiw
33141192 Ut Gppnpn. mmpmuTnhPWrsﬁm 3,5 dd wwnnunwlubph ac Rt 0 5 0.0
widw
33141192 Lt Yndwpbuhnt hwppwl 4,5 dd wunnunwllibiph hwdwp 9L hwn 0 10 0,0
33141192 Lwjli Yndwpliuhnt hwppwl 4,5 dd wnnunwlubiph hwdwp < hwun 0 5 0,0
33141192 MHaynuunpniyghnt hwppwl 3,5 G wununwlubph hwdwp 9< hwn 0 10 0,0




33141192

MHayntunpnilghnt hwppwl 3.5 dd wununwlbbiph hwdwp < hwun 0 5 0,0
33141192 Gjnin 1,5 dd 30ud 9< hwwn 0 200 0.0
33141192 Gjnin 2,0 4 30ud < hwn 0 200 0,0
33141192 Gjnin 2,5 4d 30ul q< hwun 0 200 0,0
33731120 Ubipwlbwht nuwbyuwl < hwwn 0 250 0,0
33731121 Lbipwlbiwhl nuujujwl < hwwn 37000 100 3700,0
33731120 Ubipwluwht Ihgpuwidnpyuws thuwihnily nuwljuy < hwn 0 250 0,0
33731120 Ubpwlluwiht |hgpwidnpyws thwihnily nuwbjwl < hwun 50000 100 5000,0
3373120 Ubipwluuhl thwihniy hhnpn$np nuylywy < hwn 0 50 0,0
33731120 Unun$nihly dwinyh hhnpn$hy ng thuynts nuwljwly < hwun 0 50 0,0
33141211 Shyntunyuh$hlwghuwih hwywpwant < hwwn 0 102 0,0
33141212 dhynkuinyup$hlwghuwih hwywpwdnt < hwwn 60000 25 1500,0
33141155 Twbwy Uhtwpnidwlwb-Ybpwnnd < hwwn 0 250 0,0
33141156 Twbwy Uhbwpnidwlwb-Yspwnnd G< hwn 4700 50 235,0
33141155 Ttwbwl whwpnidwlwl Q< hwn 0 252 0,0
33141156 Twbwy whbwpnidwlwl < hwwn 5500 150 825,0
33141212 Ultwyhpwhwinwlwl ubpl Q< hwwn 0 50 0,0
33141213 Utwdhpwhwinwlwl tbpy < hwun 11000 25 275,0
33141212 ULwidhpwhwinwlwl tbpy < hwwn 0 70 0,0
33141211 Nuujbywyh Ywyunyuwn on 12.30/10.0008 Q< hwwn 0 25 0,0
33141211 Nuugtywlih Yuiyunywn on 14.30/12.0000 I hwun 0 25 0,0
33141211 Nuugtyulh Yuyunywn on 15.30/13.00d8 < hwun 0 25 0,0
33191620 Uluwyhpwpnidwljwl yhp. unbiphy dwdlyng uwbnwth < hwwn 0 700 0,0
33141211 Uluwpnidwlwl puppphe < hwwn 0 200 0,0
33731140 Uwnbiph| bbipwliiwht jndnyp 5004 G< hwwn 0 210 0,0
33731141 Uwnbiphy Ubpwltiwht nidnye 5004 < hwin 6400 100 640,0
33731140 hanunntiply, unbiphy, wwhpngbt ndnyp < huwwn 0 400 0,0
3314121 Ubphigbynynquihts Jhulntjwunply /qby/ < hwwn 0 250 0,0
33141212 Utiphigbiynynquiht dhuljnkjwuwnhly /qby < hwwn 6200 150 930,0
33141224 Yhnptywndhwih hwdwp Uwhuwbbudws gnin hwlwpuidnt L hwwn 0 12 0,0
33141225 Yhwnpthunndhwih hwdwp Uwhuwbbuyws gnun hwwpusdni < hwwn 110000 6 660,0
33141184 Ywhkp 0,35 < hwn 0 150 0,0
33141184 Ywbp nhwqunuwnpy 0,35 < huwn 0 50 0,0
33141184 ULbjpnywbip 0,014 < hwun 0 50 0,0
33141184 Lbypndudhypndwbp 0,014 < hwin 0 50 0,0
33141184 Swin ohp < hwun 0 50 0.0
33141136 Ninnnpnhs Ywptnbp < hwwn 0 100 0,0
33141136 Uuwhpwghnt Yuptinbip/ubpnhtwghy < hwwn 0 50 0,0
33141136 Uuwhpwghnt Ywpbnbip/whph$bphly hwuwtlh pjwip < hwwn 0 50 0,0
33141136 Uhypnywptnbp G< hwtn 0 20 0.0
33141136 Lbypndhlypnlwpbinbp < huwn 0 50 0,0
33111310 Uunbuw/ntunphytip 9< hwun 0 26 0,0
33111310 Lbjpnuwnbiin < hwwn 0 20 0,0
33191510 Prfutibpuwpwldwt hwdljupg/pwpdn 6ot < hwwn 0 200 0,0
33141211 Gnninh thwlwtny < hwin 0 200 0,0
33191620 Uwnbiph| uwywt < hwwn 0 150 0,0
33141142 Lbipwplhs thwlwting <L hwwn 0 50 0,0
33141211 hu$nighnti funnnywly q< hwn 0 100 0,0
33141136 Tthwqununhly Ywpbnbp < hwn 0 100 0,0
33141136 “hwgununhl Utypn Ywptnbp 9< hwn 0 50 0,0
33141211 Ynlibljunnp Ywal < hwwn 0 200 0,0
33141136 Uhypnywpbipbp < hwun 0 30 0,0
3311310 Uwnblwn < hwwn 0 15 0,0
33141211 f3pnuphg wuwounwwling gnpdhp < hwwn 0 15 0,0
33141136 Uuwhpwghnb Ywpbunbp < hwun 0 40 0,0
33111310 Uwnbuw/nbnphytip < hwn 0 20 0,0
33141211 Uuwhpwghnl huiptinbip thnpp nhwdbnpng < hwn 0 20 0,0
33141136 Uhlypnjwptnbp < hwwn 0 20 0,0
33141184 Lbypndhlypnduitip < hwwn 0 30 0.0
33141136 Ywpbinbp phpbinuhly Q< hwun 0 5000 0.0
33141136 Ywpbinbp Ubipbpwlwiht 246 9< hwn 0 20000 0,0




33141136

Ywpbunbtp ubipbpwlwht 226 < hwin 0 10000 0,0
33141136 “wptintin Ubppwwiht 206 < hwwn 0 10000 0
33111230 Ujnndwin pwdwliunphsh duijnwilywiibip 10-200uly q< hwtn 0 80000 0,0
33111240 Uinndwin pwdwbiwynphsh Swypwilywiutip 100-1000ul; Q< hwn 0 40000 0,0
33141115 Pdalwljwl pudpwly ng hwlwbbudwd 100q ubipddynn < hwun 0 4000 0,0
33141115 Pdaljwlwl puwtigh$ /dwpyuw/ < hwwn 0 60000 0,0
33141178 “Hintiph Ubpwplwt hwdwlwngtn < hwin 0 100000 0,0
33141111 Yuysnil uwybinwuh 5*500 Yunphg 9< huwn 0 8000 0,0
331411 “uignis ubnuiih 2,5°500 Guinphg < | hum 0 5000 0,0
33141156 Qbintinglitin pdpljwilwils ng unbiphy Q< hwn 0 200000 0,0
33141100 Ubjwliqudjw oquwgnpddwl phup-tiphq gyntyndbiinph < hwn 0 5000 0,0
33141100 Ubljwuquijw ogunwgnpdiwl Rhup-tiphq gyniyndtnph < hwun 0 4000 0,0
33141173 Uhqpunnitipg < hwwn 0 5000 0,0
33141142 Lbipwplyhsutip 1,0 < hwn 0 80000 0,0
33141142 Ubipwnyhgubip 2,0 < hwwn 0 100000 0,0
33141142 Lbipwplhsubip 5,0 < hwwn 0 160000 0,0
33141142 ULbipwplyhgutip 10,0 < hwwn 0 140000 0,0
33141142 Ubpwplstbp 10,0 lock < | humn 0 5000 0,0
33141157 Lownwpubip b uwjpbip < hwin 0 5000 0,0
33161220 Cywnb thwjnt L hwwn 0 60000 0,0
33141211 Shd bipywpwgnighs 150ud L. hwun 0 5000 0,0
33141110 Yhpwlwwbip 7*14 ng hwlwubhu]ws < hwin 0 10000 0,0
33141110 hpwlwwbin 10*16 ny hwlwubiudws < hwwn 0 8000 0,0
33141110 Yhpwlwwbip 5410 ny hwlwlbhudws < hwtn 0 6000 0,0
33191310 Prpdwlinplin ulnuiwht wpjwl punhwlng pulinipjwl ac A 0 48000 0.0

hwdwip

33191310 Prpdwlinplin Ywynwwiht dhjwhu < hwwn 0 36000 0,0
33191310 Pnpdwlinpubip Na ghinpwin Q< hwwn 0 12000 0,0
33141144 Nnuninbinuht wubin nipnnprhsny Q< hwwn 0 2000 0,0
33141158 Uhpwpnidwluwl skntinglip N7 q< hwn 0 6000 0.0
33141158 Uppwpnidwlwl dkntingubip N7,5 < hwwn 0 8000 0,0
33141158 Uhpwpnidwlwl dbntingutip N8 < hwwn 0 7500 0,0
33141158 Yppwpnidwlwl dkntingubip N8,5 < hwwn 0 3000 0,0
33141121 Yhpwpnidwlwl phitp Lynt 1 9L hwun 0 180 0,0
33141121 Yhpwpnidwlwl phybp Liynt 0 < hwn 0 180 0,0
33141121 Yppwpnidwlwl phikp Lbynt 2/0 < hwn 0 240 0,0
33141121 Uhpwpnidwlwl phibp Lbynt 3/0 < hwwn 0 240 0,0
33141121 Uppwpnidwlwl phibp Lynu 10/0 < hwtn 0 24 0,0
33141121 Uhpwpnidwlwl phitp Yhngnun 0 < hwwn 0 600 0,0
33141121 Uhpwpnidwlwt phitip Yhngnun 2/0 < hwwn 0 900 0,0
33141121 Yhpwpnidwlw phitp Ytngnun 3/0 < hwn 0 900 0,0
33141121 Uppwpnidwlwt phitp Ybngnun 4/0 < hwwn 0 480 0,0
33141121 Uhpwpnidwlwl phitip Mnhwypnuhitiu 0 < hwn 0 600 0,0
3314121 Uhpwpnidwlywl phibp Mnfhwpnwhtb 1 < hwun 0 600 0,0
33141121 Yhpwpnidwlwt phitp Mnhwpnuhitu 2/0 9< hwwn 0 600 0,0
33141121 dppwpnidwljul phitip Mnjhwpnuhil 3/0 K hwwn 0 720 0,0
3314121 Uhpwpnidwluwl pliip Mnjhuipnuihib 4/0 < hwwn 0 480 0,0
33141121 dhpwpnidwlwl phibp Mnjhguilunpl 0 < hwwn 0 900 0
33141121 Yhpwpnidwlwl phitp Mnjhquulnpt 1 Q<L hwwn 0 960 0
33141121 Uhpwpnidwlwl phibp Mnjhquuljnpht 2/0 G< hwwn 0 600 0
3314121 dhpwpnidwlwl phitp Mnhqiulnht 3/0 < hwwn 0 600 0
33141121 Yhpwpnidwlwl phitp Mnjhquwljnht 4/0 < hwuwn 0 240 0
33141143 Unlingti| 250,0 9L hwun 0 500 0,0
33141143 Unuingbi 1 K hwun 0 240 0,0
33141183 Ybpwlpdwu gnun 66,86 < hwn 0 600 0,0
33141211 Stuwwnuyhsh gbipdwih pnine < hwin 0 80 0,0
33141211 Unwpluwjwlwl wywblh 2h$ nwonny q< hwwn 0 18000 0,0
33141211 Dwdljwwwlh Q< hwwn 0 18000 0,0
33141228 hunhljwinnp onwjhl unbiphihquignuing N1000 < hwwn 0 12 0,0
33141228 htnhlwwnnp gninpghny unbiphihquignuing < hwwn 0 6 0,0
33141201 Pufupubp < | hun 0 60000 0,0




33711490 MNuwhwwbwltbp < huwwn 0 12000 0,0
32351230 MHlingbl dwwwblu 30*40 < hwn 0 4000 0,0
33141201 Pwluhiubip uu hwtn 6 16600 99,6
32351230 MHalingbl dwuuilbl 30*40 (N 100) uu hwwn 38500 15 577.5
38431700 Uhlpnwinndh gbinp N50 uu wnnup 65000 2 130.0
33141142 ULbkpwplhs 1q uu hwn 20 5000 100.0
33141121 Yhpwpnidwlywl ph wnjhwpnuhbu uu hwin 315 312 98.3
34141173 Ubiqpunnitihg uu hwn 51 1800 91,8
33141140 Uuwihpwghnt Ywpbunp uu hwun 103 970 99,9
33791300 Pnpnuhihlwuuwht thnpéwlnp uu hwwn 60 500 30,0
33141149 Shunnyuwiht wubinubp_quipybipwlwht uu hwun 200 250 50,0
33141149 Shunnyuiht wubinibp_bpwlwht uu hwwn 200 250 50,0
38431700 Btipdndwwwbu uu hwtn 3400 10 34,0
31651200 EUS dwywytu58*20 uu hwwn 900 110 99,0
38431700 Ewbnnp$/ jwpnpninnp wwpwgw uu hwwn 10 2000 20,0
38431700 @ninpe 4SS 150*110 uu hwtn 2600 20 52,0
Cunwdbp 149443,1
£hUbULUL L3NKRL
33211450 Uppnuiht 9< phup 0 7000 0.0
33211450 Ujpnuiht G< pbup 1104 1000 1104,0
33211430 Upw wihjwqu < phup 0 2000 0,0
33211430 Upw wihjwqu < pbup 169,8 1000 169,3
33211410 Uuywpunwwihununpwbubbipwg AST < phiup 0 7000 0,0
33211410 Uuwyuwr Jhuninpwliuptipwq AST < phup 21 1000 21,0
33211420 Wwthbwdhuninpwbu$bipw ALT K phup 0 8600 0.0
33211420 Uwuhtwdhununpwu$bipw) ALT < phup 21 1000 21,0
33211140 Phihnnipht/Cunhwunip l;mrlhq pg:{mmphuh npngdwl phiup- ac b 0 21000 0.0
Phihanipht/Cunhwlng ult\‘mﬁqupjhﬂ:nmphhh npngdwl phupe-
33211140 < rbup 21,6 10000 216,0
hwywpwdnt
33211340 <kdngnphlu q< phup 0 8000 0,0
33211340 Lbdngnpht S phup 5,85 800 4,7
33211110 Ubinhwupnht MediScreen /Utiqh dbg qyniyngh & wgbwnth ac whi 17.76 8400 1492
npnodwl phupe unphutitinh hwywpwdnt
Twup) TScreen 9 GUNnan, Wy,
uwhwwlnigh, pH,Ywnnttbiph,nbuwywpwp lgnh,
33211110 Uhwphutibiph, [Gynghwulibinh, ninnnphtihgbip U phihanihh | 9< pbup 65,4 5000 327,0
npn2dwl phup unphwubiph hwdwpwsdnt CYAN strip
wwnunuunh hunfinn
33211160 Ypbwinhuht CREA-Col/ Unbwwnhlhth npnpdwl phup G< phup 9,15 25000 228,8
33211160 Ypbwwnhuht Yhtwqu < phup 0 2000 0,0
33211160 Ypbwwnhuht Yhtwqu < phup 150 1000 150,0
33211310 fpnupnwywuwnhh npnpdwl phup hwiwpwdnt < phup 0 24000 0,0
33211310 fFpndpnuyiwunhtih npnpuwl phup hwiwpwént < rhbup 5 12000 60,0
33211150 Uhquitynie Urea-Col / Uhquityniph phiup - hwdwpuwint 9< phup 0 15000 0,0
33211150 Uhquitijnie Urea-Col / Uhquiyniph phup - hwdwpwant < phup 21,7 7200 156,2
33211320 Cbwwwhin C hpnwh wbmhq:hh npwlwlwl hwjnbwpbpdwl ac pbup 102,96 8000 8237
__PUUR _
33211320 Cbyjwinhun B ppnwh wnhgbth npwluwhwl hwynbwpbndwl ac b 66 8000 528.0
phup
33211320 Sbywinpin C yhpnih wlnhgblih  hwjnbwpbpiwt phupe 3L phup 104,17 1728 180,0
33211320 Lbwuwinpin B dhpnwh wlnpgbth  hwjinbwpbpiwl phup < phup 113,75 1728 196,6
33211130 hun(Gunbipng CHOLESTERhOL /Ehr}:mbmn funjbunbiphuh phup- ac phup 0 4000 0.0
wwpwdnt
33211130 tuniGuwntipn CHOLESTEROL /Cunhwlnin funbunbphtp phupe- ac s 2 1000 210
hwywpwdnt
33211130 tunjbuntipn| /HDL- funjbuntiphts < phup 0 400 0,0
33211290 Ywihnuih npngdwl phup-hwywpwdnt L phup 0 18000 0,0
33211290 Ywihnuwh npnadwl phupe-hwywpwsnt < phup 93,6 1000 93,6
33211300 Yuwighnuwih npngdwl phup-hwwpwsnt < phup 0 3000 0,0
33211300 Ywighnwh npngdwl phup-hwywpusdnt q< phup 21 1000 21,0
33691162 Lwunphnud 9< phup 0 800 0,0
33211290 Lwwnphnud < phup 319,95 200 64,0




(wl‘wumnhwmnlnhqhum—trsﬁ a-

33211260 O/<wlwuwnptiynnjhghti-0 npngdwti pliup-hwywpweny ASO/ | 9¢ pbup 26,4 1500 39,6 —’
___latex
S - in-
3311270 nunw| wpnnbht-Uny Total protein Col/CnhwUnyn uwhinwlnigh 9c abug 0 7000 0.0
npnadwi phu _hw wpuwidn|
33211270 Snunw| wpnuinbhu-Yn Total protein-Col/Crhwunip uwhnwlnigh ac wiup 8.88 1000 8.9
npnodwil hiup hwywpwdny
33211470 Spnuynbihty/whuwn. uynyatip/ Q< phiup 0 1000 0,0
33211470 Spnunuhb/whuwn.bynyabip/ < phup 322,8 500 161,4
Mudwinnhn, $wlyinnp Lwinbipu Rematuoid factor-
33211240
lex/MHudwinnhnw)ht $wlnpubiph npnadwl phup-hwwpwsny fias phup 25,68 2000 s
33211120 Sunthyng G-col/gqynilyngh npnpuuwits Rhup-hwwpwdny < phup 0 25000 0,0
33211120 Suniyng G-col/qyniyngh npngdwt phup-hwjwpwdny §< phup 9,24 5000 46,2
8-nhi -wnbipu C i in-lex/C-
33211250 nbwlnhy wpninBhU-winbpu C-Reactive Protein-lex/C ac pbup 25.68 15000 385.2
nbwlwnhy uwhunwlnigh npnodwl phup-hw wpwdnt
[l P] D
33211230 H-Auippnt RPR C:fg”f;t""‘”” Rpnguul Rbufe < | ptup 33 5000 165,0
33211190 Snjhljinti wbwnp-A /wpywb fudph 11 npngdwl phup < phup 2,4 12000 28,8
33211200 Snihljint wlinh-B /wpjwl fudph 111 npnaduwl phup < phup 2,4 12000 28,6
33211200 8nhlynt wuinh-AB < phiup 3,96 1000 4,0
= h
331220 | SMPUnl wlinh U“““h"r/‘ ;mg::q";z uhuljupgh whinhaBih |~ phup 48 12000 57,6
33211210 Snjhlint wlinh-Uniwtp/ rh € ntiqnu hwdwGwngh winhgbup ac ahug 9 1200 108
npnodwl phup
[l T
33211180 Snhatighphn TR GLECE'::EES/T;TQW"“" nnnzduwl phu-— g pbup 0 2000 0,0
_hudwpuidn,__
33211180 Sphaitighphry TRIGLECERIDES/bnqmgbnhr}h npndwl rbup- ac 6t 45 500 25
hwywpwdnt
Mpnunwun uybgh$hl wlnhgbuh npuwlwlwl npnpdwl phupe-
3321331 q.
a hwywpwdny/PSA punhwling = phuR v b o
TMpnunwn uwbgh$hl wlinhgbuh npwlwlwl npnpdwl phup-
Q- 1
33211330 huwpwsnyPSA plinhutng < rbup 27,5 192 24,5
33211350 @hptinunpnuy hnpdnt HTSH < phup 0 2304 0,0
33211350 @hpbinunpny hnpdnt HTSH < phup 135,63 384 52,1
33211370 (dhpopuht T4 < phbup 0 384 0,0
33211370 (@hpopuhti T4 < phup 171,875 96 16,5
33211370 Uquwn phpopuht FT4 < phup 0 1152 0,0
33211370 Uquwn phpopuhti FT4 < phup 159,375 384 61,2
33211380 Gnynnphpntipl T3 < phup 0 288 0,0
33211380 Gnynnehpntipt T3 9< phup 177,083 96 17,0
33211380 Uquwn binynnphpntipli FT3 < phup 0 288 0,0
33211380 Uquun tnjnnphpnubt FT3 G< phup 165 96 15,8
33211390 Anti TG-Cwlwiwndhlbibp phpkinginpnyhth Ujwwndwip < phlup 0 576 0,0
33211390 Anti TG-Cwljwdwipdhlibp phpbinggnpnyhtuh Uwindwdp < phup 165,625 192 31,8
33211390 Anti TPO-Cwlwdwpuhuttin rhpbnutinopuhnwgh ywndwdp | 9< pbup 0 960 0,0
33211390 Anti TPO-Cwlywdwpdhtlibip rhptinwtinopuhnwgh bjwndwdp | 9< phup 162,5 192 31,2
33211280 Ppnigbiingh npnpuw phiup hwdwpwdnt < phup 0 200 0,0
33211280 Ppnighingh npndwt phupe hwywpwant < phup 240 100 24,0
33211170 Uhquippnt UricAcid/Uhquiereuh npnpduwts phup-hwwpwsdnt < ptup 0 1500 0.0
3321170 Uhquierent UricAcid/Uhquppyh npnpdwl phup-hwlwpwént < phup 26,2 1200 31,4
33211430 Swidw gynunwipy npwliudbpwqu < phup 58,5 1000 58,5
33691162 Lwpnpuinnp wanulynipbp/nbwglnttn/ (dtur Gnwlpnud ac i 318 100 38
RwpUYwd wpintip npnobint hwidwp
33691162 Lwpnpwinnp wqnuwlynipbip/nbwgbtintibn/ LDH-L < phup 0 2000 0,0
33691162 Lwpnpwinnp wqnuinipbp/nbwgblnutip/ LOH-L < phup 24 1000 24,0
33691162 Lwpnpwinnp wqnwyniplip/nbiwgbtintbp/ Snunp G< phup 35 1200 42,0
33691162 Lwpnpwinnp wqnwlynipbip/nbwgbtntbp/HIV- 2hU< < phbup 177,6 5000 888,0
33691162 Lwpnpwinnp wqnwljnipbip/nbwgblntby MMd < phbup 45 8000 360,0
33691162 Lwpnpwwnnp mquh':n:al:]r:::hw;'bhmbbn/Uwqhbqhmdh ac satitis 30 1000 30,0
—Npnodwl ptup




33211430

<hdu. $nubpwinwquih npnpdwl hwywpwsdnt 9< phup 34,8 200 7.0
33211500 Dhphinpl < | phup 318,75 576 183.6
33211500 Lhjhynpwlnky q< phup 0 576 0,0
33691162 Lwpnpwwnnp wqqu‘bjnxrahtr:/nt:jwqbsl;mbbn/ Ynuunpn| jnidnyrellbin ac pbup 6936 : 6.9
npuw,
33691162 Lwpnpwinnp quwb]nlrab%r;hwdqbbsﬂubn/ Yntunpng mdnyplbn ac pbup 6936 i 6.9
ng unpduy
33211500 Unniiwpwbiwful whwihquinnph nbiwlnhyubp- ac it 0 60 0.0
Lndhs+wuwinnn-20
33211500 Unynbuwpubill whwihquinnph REwlhUEN- 9¢ | hwn | 138000 12 1656,0
Lnwdhs +wwnnn-20; !
33211500 Ummhmpmhwqwb wlwihqunnph nbwlnhdubp-HGB - ac i 0 18 0.0
wipwinn ntwghtin-3,8; :
33211500 Ummbwpmhwhmh whwihquinnph nbwlinhyutip-HGB - ac hwn 145200 2 2904
pwipw)nn nbwgbtin-3,8;
33211500 Upniiwpwbwlul wbwhquinnph nbwlwnhyubin-WBC ac huitn 0 40 0.0
pwipwinn nkwgkitin-3,8) '
33211500 Uanmepwbmuu.lb wlwihquwnnph nbwlnhutn-WBC ac T 90600 10 906.0
pwipwinn ntwgtiun-3,8 .
33211500 Upniiwpwbwlwt wlwhqunnph nbwlnhyuip-Eughdwinhly ac T 0 10 00
ntiwgbtin-1004; |
33211500 Unniiwpwbwlul whwhquinnph nbwlunhyubin-Eughdwnhl ac Bt 296400 1 296.4
ntiwgbuwn-1004)
33211500 Unjniiwpwliwlwl whwihqunnph nbwlunhyubp-Yuihppwinp ac - 0 2 0.0
U w thhhhlthulh
Upynut Uwlwl wlwhqy h nbiwln n-Ywipppwinnp
33211501 o !
i < phup 403200 4 1612,8
33211500 Unjniiwpwbiwlul wbwihquinnph nbwlwhyubin-ubtiunp pwpin|  9< pbup 0 22 0,0
33211501 Upniiwpwbiwlwt wbwhqunnph nbwlwnhyubip-ubbunp pwpin| < phup 147000 7 1029,0
33211470 Spnwnupt | < phup 0 3000 0,0
33211470 Spnuynlipl | < | phup 2100 1500 3150,0
33211330 Mpnunwin uwkigh$hly wumhcgislf npn2dwl pbup hwjwpwdni- ac¢ pbup 0 200 0.0
33211330 Mpnunwin uytigh$hly mhmthbSb: npn2dwl phup hwdwpwdni- ac pbup 1800 100 180,0
33691162 Lwpnpuinnp wqnwbyniplip/nbwgblnttp/ Lhunwdht D < phup 2400 200 480,0
33691162 Lwpnpwinnp wqnuilyniplip/nbwgbtintbp/ D-Dimer < phuR 0 100 0,0
33691162 Lwpnpwinnp wqnuljnyebip/nbwgblntibp/ D-Dimer QL rhup 199,8 50 10,0
33691162 Lwpnpwnnp quwbmt::s:‘nh:;ql;bmhhn/ qlhynhquigquwd ac it 0 100 0.0
___htidngnpht
aseone | wempwinn “‘q"w“’""::m "br“““:“‘”“h"/ Hrimhaugdud T o T e 1800 50 90,0
_htidnginphti
33211250 8-ntwlyuinpy wpninbhu < phup 0 100 0,0
33211250 8-ntiwlnhy wpninbht q< phup 1800 50 90,0
33691162 Lwnphnipbinply uwhinwlyng < phup 0 50 0,0
33691162 Lwwnphnipbnhly uwhunwlng RS phup 2400 25 60,0
33691162 Ynpunhgng 9L phbup 0 50 0,0
33691162 Ynpunhgng < phup 2400 25 60,0
33691162 Mpnlwighinntht < phup 2400 150 360,0
33691162 Uhlypnwipnuwhl dbgh dbg Q< pbup 1800 25 45,0
33691162 a-Ph A< | phup 1800 25 45,0
33211350 I'&hnbnmnmq hnru]nb 9< pbup 0 50 0,0
33211350 Fhpbninpny_hnpdnt < | phup 1800 25 45,0
33211370 (@hpopuh T4 punhwlnip q< phup 0 50 0,0
33211370 fhpopuht T4 pinhwlinip < phup 1800 25 45,0
33211500 Mpnywljnpt < pbup 1800 25 45,0
33691162 Cobas e 411 Eltluhu pwndp qquijunip)wl Spnuwyntpt T ac i 0 10 0.0
wlwlwlwl npnpdwl phup hwdwpwdnt
33691162 Cobas e 411 Efiluhu pwnén qquiliniejwl Spnwyntpt T ac Fiii 118100 2 2362
wlwlwlwl npnpdwl phup hwdwpwdnt
33691162 Cobas e 411 Eljupu p:nbn loﬂbmmmu Spnunupt T ac RO 0 3 0.0
Ywihpy n
33691162 Cobas e 41T Etluhu puinén qquiuniejwl Spnwntpt T ac Sl 25800 | 25.8

w wun




33691162

Cobas e 411 kjtiljuhu wpbuhlyntunpny Spnuyntipl < hwun 0 2 0,0
33691162 Cobas e 411 kytiljuhu wpbiuhyntinpng Spnuyntipt < hwwn 21700 1 21,7
33691162 Cobas e 411 Eibyuhu wquin hnopuhth npnpdwl hwyjwpwdnt | 9< hwn 0 6 0,0
33691162 Cobas e 411 kjljuhu wquitn ehnopuhtih npnadwl hwdwpwén, | 9¢ hwn 38400 1 38,4
33691162 Cobas e 411 kjbljuhu wquin ©hropuplih Ywihppunnp < hwn 0 2 0,0
33691162 CC[;)asbas 3141'1: tt,l[:m;hu wquin phpopuhtih Ywihppwinnp < hwwn 27700 1 27,7
obas e 411 Ejbluhu phpinupny hnpunth pubiwwluwt
33691162 y mﬁﬁL“#‘{MwﬁM%mu by 9% | hun 0 7 0,0
obas e LE4upu phpbinupnuy hnpdnup pwbwlwlwt
33691162 Cobas e 411 bibiljuhu Rhptnunpny hnpdnup Ywihppwinnp K< hwun 0 4 0,0
33691162 Colz:asb:ﬂl billjuhu phpbnunpnuy hnpdnh Ywihppwinnp < hwwn 21500 1 21,5
obas e 411 Ejtluhu <whwpehpn| Ennpuhnu
33691162 hul sy uh = l‘ LTS. L’Z . "w‘;nrl"‘ a < | hun 39100 1 39,1
obas e 411 Ejblupu Cwljw hnnhn whpnpuhnw ;
33691162 R R L R 9 | hun | 24200 1 2.2
Cobas e 411 kjtlupu wnhpbinginiphihtuh Uwinduwd -
23631162 hwlywdwpdhtiiph pwlwywlwl npnadwl ptl:um-hml.{nipwém o< il 62400 ! 623
Cobas e 411 Eluhu nhptin ntphihth bywindwd,
33691162 Wik i . AL A 9 | hun | 26900 i 2%
33691162 Cobas e 41T Etlupu Mwpwwhpbnry, hnpdntp pwliwlhwlwl ac i 187800 2 3756
npnodwl phun- hwywpuwdnt
33691162 Cobas e 411 kibluhu Mwpwwnppting hnpdnuh Ywphppwinnp < hwn 0 2 0,0
33691162 Cobas e 411 kikiluhu Muwpwinppbing hnpdnup Lwphppwinnp < hwwn 53800 1 53,8
33691162 Cobas e 411 kjtljuhu wpbuhnnpn; Thyro Ab-h q< hwwn 70400 1 70,4
33691162 Cobas e 411 kljupu wnbuhyntwnpng Jwphuw L hwun 61000 1 61,0
33691162 Cobas e 411 tibluhu upuyny 9< hwin 0 5 0,0
33691162 Cobas e 411 Ejblupu uhuynp q< hwun 22500 1 22,5
33691162 Cobas e 411 Ejbiyuhu Wnwbntbiph puthdwl wplyn < hwwn 0 1 0,0
33691162 Cobas e 411 _Ejbilupu unnighsh wunpbbiph hwdwp Q< hwun 0 1 0,0
33691162 Cobas e 411 bjbljuhu Swjpwnhputip < hwn 0 2 0,0
33691162 Cobas e411-h wwppEpwhwl nbhubhywlwl fubwdph ac b 0 1 0.0
hpwlwlwgnui
33691420 Ubiiwwly XP-300 < hwwn 0 180 0.0
33691420 Ubiiwyuwly XP-301 < hwtn 21000 50 1050,0
33691420 Uunpndwinnjwiqip-WH XP-300 < huwwn 0 50 0,0
33691420 Unnpndwinnjwjglip-WH XP-300 9L hwn 120240 20 2404,8
33691420 _Utypihts XP-300 < hwn 0 13 0,0
33691420 fdninp Uwhiwnbuyws gbpduht nyjhsh hwdwp XP-300 q< hwun 0 200 0,0
33691420 fFninp bwhiwnbudwd shipdwht nwhsh hwdwp XP-301 < hwwn 534 100 53,4
33691420 Uhuh Ynyklyin XP-300 S< hwn 0 2000 0,0
33691420 Uhuh Ynybln XP-301 < hwn 90 1000 90,0
33691162 Cobas e 411 Elbluphu $njwppUh pwbiwlwlwl npngdwl phun- ac hut 79700 1 79.7
hwywpwdnt
33691162 Cobas e 411_kybluhu $njwppdh Ywihppwinnp < hwn 26900 1 26,9
33691162 Cobas e 411 EiEluhu Jhinwdht B 12 pwlwlwlwl npnydwl ac . 38300 1 38.3
phun-hwywpwdnt
33691162 Cobas e 411 tybluhu Jhinwdht B 12h Ywihppwinnp < hwwn 26800 1 26,8
33691162 Cobas e 411 Mpkuhlnlunpny nihybpuw <L hwin 0 2 0,0
33691162 Cobas e 411 Mpbuhyntwnpng niihybpuw < hwn 25800 1 25,8
33691162 Cobas e 411 Mpbuhyntinpn; dnyinhduwplybip < hwtn 0 2 0,0
33691162 Cobas e 411 kjlyuhu |nidhy dnywnp < huwin 0 1 0,0
33691162 Cobas e 411 kiljuhu jnidh nwhybpuwg < hwwn 0 2 0,0
33691162 Cobas e 411 kiluhu Ywihppwinnph wunpubiph hwwpwént < hwn 0 1 0,0
33691162 Cobas e 411 titiljuhu utnnighy wlnplbiph hwywpwdnt q< hwn 0 1 0,0
33691162 Cobas e 411 ISE uhuljjhtu < hwin 0 1 0,0
33691162 Cobas ci11 Pul- funjtuptipn npndwl phiup hwywpwdnt 9< hwwn 0 2 0,0
33691162 Cobas cl1l Phul- funibupbipng npnodwl phup hwywpwént < hwwn 41700 1 41,7
33691162 Cobas cl11 Ywihppwinnp Ihwhnubph hwidwp < hwun 17700 1 17,7
33691162 Yhuuby q< hwn 0 7 0,0
33691162 Mpnuby < hwwn 0 7 0,0




33691162 el 1 QC-dwlhwpnul 2 < | hun 60000 1 600 |
33691162 Cwnqbl wduy 12V/20W bwhwwnbuws cobas clli uwpph ac Wit 0 5 0.0
hwdwp !
33691162 Cwingbli (wdwy 12V/20W :Er::mhuqu‘é cobas cl1T uwpph ac o 54000 1 540
33691162 Ulinhywinnp bwhiwinbudwd  cobas cil uwpph hwdwp < hwwn 36000 1 36,0
33691423 el 1 Cartridge 600 9< hwn 0 14 0,0
33691423 el 1 Cartridge 600 < hwwn 240000 1 240.0
33691423 el 1 Cartridge 300 q< hwwn 0 6 0,0
33691162 Unupwglinn htinniy NaCl 9% < huwun 14600 1 14,6
Guh Yoilk T
33691162 e Lioye il hu“':i‘“b A L O T e 0 5 00
—_huiwn ____
G
3369162 | wAhRnwAD Lng "‘“’"“‘r“":;i“‘b BYNGFUPIBETRED | " | Wiy | (32700 1 347
33691162 Lyuignn htinnu cleaner cobas Mwbwihquinnph hwdwp < hwun 0 8 0,0
33691162 Lywgnn htinnuy cleaner cobas Mwbwihquunnph hwdwp G< hwwn 14100 3 42,3
33691162 Uwnnighs tjnip wpbuhynlinpng dnywnp 1 9L hwn 7560 1 7,6
33691162 Uwnnighs tynie wpbupyntinpng dnywnh 2 < hwwn 7560 1 7,6
33691162 Ynpwu Udnih wunpUbp bwhiwinbuws cobas 111 uwpph ac B 0 2 0.0
hwdwp
33691162 Uuywpunwn wihuninpuiiudbipwq npnouwl phuwn hwlwpwsn| 9< hwn 0 30 0,0
33691162 Uuywpunwin wdhununpwbubbipuq npndwl phun hwywpwdn| < hwun 17900 4 71,6
33691162 Ujwiht wdhunnpwbubbpug npnguwl phun hwdwpwdnt < hwn 0 30 0,0
33691162 Ujwbiht wdhtnunpuitiupbipwg npngdwt phutn hwywpwsdnt Q< hwwn 17400 4 69,6
33691162 Uhqulyniph npngiwl phun hwywpwént < hwwn 0 30 0,0
33691162 Cunhwuny uwhunwlnig npnoudwt phun hwlwpwdnt < hwwn 0 10 0,0
33691162 Cunhwbin uwhinwlnig npnodwl Rhun hwywpwsdnt < hwwn 21700 2 43,4
33691162 Uihw wiihjwg npnodwl phuwn hudwpwsn: Q< hwun 0 12 0,0
33691162 Uipnwiht npngdwt phun hwdwpuwidnt < hwun 0 10 0,0
33691162 Uipnwihty npnpduit phiuwn hwdwpws G< hwn 18400 2 36,8
33691162 “Hwnninbhuhqugling htnndy Uwhiwwnbudwd  cobas cI1T qc hun 0 6 0.0
uwpph hwdwp
33691162 “awpnunbhuhqugting hhqml:llllj‘l:l'uwmhut{wb cobas cI11 q¢ b 6700 ) 13.4
uwpph wpn
33691162 Mewlghnt YynulbintiBph hwiwpwant Uwhiwwinbuwsd cobas ac i 0 18 0.0
cl11 uwpph hwiwp
33691162 Mewlghnt YynufBuntibnh hwiwpwdnt Lwhuwwnbuwd cobas ac — 63800 6 3828
eIl uwpph hwdwp
33691162 Ypbwwnhlht npnpdwl ebutn hwywpwdnt < hwwn 0 20 0,0
33691162 Ypbwnhuh npnpdwl phiun hwywpuidnt < hwwn 15500 5 77,5
33691162 Syniyngh npnpudwls phuwn hwywpwdnt < hwwn 0 60 0,0
33691162 Syntyngh npngdwl phun hwdwpwdnt < hwin 16400 10 164,0
33691162 hunjbuntinht npngdwl phun hwdwpwant < hwn 0 2 0.0
33691162 hunibunbipht npnguwl phuwn hwywpwdnt < hwun 16000 1 16,0
33691162 Snhgihgtiphntitinh npngdwl phuwn huwpwdn: < hwn 0 2 0,0
33691162 Sphaihgtiphnutinh npnpuwl phun hwiwpwsdnt < hwun 16000 1 16,0
33691162 Munnwbh phihnniphtih npnpdwl phuwn hwiwpuwsn < hwn 0 20 0,0
33691162 Ninnwh phihnniphth npnpdwl phun hwjwpwsén <L hwwn 10500 4 42,0
33691162 Cunhwlnip phihnniphtih ebutn hwywpwsnt Q< hwun 0 20 0,0
33691162 Cunhwunip phihnniphtih phun hwywpwdnt G< hwwn 22100 4 88,4
33691162 Lwlunwin nthhnpngbiwgh npnpdwt phuw- hwywpwdnt K< hwwn 0 8 0,0
33691162 Ypbiwnht Yptiwquih npnpdwl Yuihppuwinnp q< hwn 0 8 0,0
33691162 Shpphungbiih npnguwl phun hwywpuidn < hwwn 0 8 0,0
33691162 Shpphungbuh npngdwl phun hwywpwént < hwwn 154080 4 616,3
33691162 Uwnnighy (nidnyp start 4 coag hwdwp < hwwn 0 1 0,0
Cobas e 411 Elecsys 2010 Eytljupu <npnipjwb htin wunguigws
< 0 21 0,0
33691162 Wwquiwiht uyhunwlnigh npngdwl nkiuin hwwpwdnt iy
33691162 Cobas e 411 Elecsys 2010 Ljljupu <nhnipjwl htin wungugyws a¢ i 229200 3 687.6
Wuquwiht ughunwlnigh npndwt nbutn hwywpwsnt




Cobas e 411 Elecsys 2010 Eibyuhu BiEluhu nhnieywt hbn

33691162 b :‘:s" 12.1" g"b ‘“2 ‘%‘ U uwhunwbnigh Uwihbangun < unnuh 0 2 0,0
obas e lecsys 2010 kytljuhu Eltluhu <nhnipjwt hbn
sapdle wunqugywd wjwgdw !lA l:: : u1ul.| l‘mh :lllh rajun.nnr; e sy 25300 ! 26,9
33691162 Cobas e 411 Elecsys 2010 free hCG+B pwliwlwlwl npnpdwl G windh 0 0 0.0
phun-hwywpwsnt
33691162 Cobas e 411 Elecsys 2010 free hCG+B pwbwlwlwl npnpdwl 9¢ o 164300 3 492.9
buwn-hwywpuwdnt
33691162 Cobas e 411 Elecsys 2010 free hCG+B Yuwihppwinnp < wnnuh 0 2 0.0
33691162 Cobas e 411 Elecsys 2010 free hCG+B Ywihppwuinp < wnnuh 26900 1 26,9
33601162 Cobas e 411 Elecsys 2010 Etjuhu wnbuhynbupng dwjpwlwt ac i 0 3 0.0
hutiwdp
33691162 Cobas e 41T Elecsys 2010 Eiyuhu wpbupyntinpng dJujpwlwl ac - 162300 1 162.3
fubiwdp
33691162 Cobas e 411 Elecsys 2010 Eibluhu Loidhg nhybipuw < wnnuh 14600 1 14,6
33691162 Cobas e 411 Elecsys 2010 ?Zulru Yw(hppwinnph wlinpUbph ac wniif 26900 | 26.9
33691162 Cobas e 411 Elecsys 2010 hmt::uuhu unnighsh wunpubiph ac i 18100 1 18.1
33691162 Cobas e 411 Elecsys 2010 kjtilupu ISE uhulyhts < nnuh 17500 1 17,5
33691162 Cobas e 411 Elecsys 2010 Unwuynbip Uhupihts < hwwn 0 1 0,0
33691162 Cobas e 411 Elecsys 2010 Ejbyupu upuyng < hwn 0 4 0,0
33691162 Cobas e 411 Elecsys 2010 Ejbyupu uhuyny < hwtn 4500 2 9,0
33691162 Cobas e 411 Elecsys 2010 kyluhu Mpnuby G< nnuh 0 10 0,0
33691162 Cobas e 411 Elecsys 2010 kytluhu Mpnub < nnuh 21900 1 21,9
33691162 Cobas e 411 Elecsys 2010 kibluhu Yihtuty < wninih 0 10 0,0
33691162 Cobas e 411 Elecsys 2010 kjbluhu Yjhtiuty < nnup 21900 1 21,9
33691162 Cobas e 411 Elecsys 2010 kytiljuhu dhlpnlynutitnubip < wnuh 0 2 0,0
33691162 Cobas e 411 Elecsys 2010 kitiljuhu dhypnlynutinttip Q< wnuh 41300 1 413
33141100 Cobas e 411 Elecsys 2010 Eibluhu dwjpwnhpubp Q< wnnih 0 3 0,0
33141100 Cobas e 411 Elecsys 2010 kitluhu Sdwpwnhpubp < wnnuh 41200 1 41,2
33141211 Uhlypniynutintibiph L Swjpwnhplbiph pwihnlitiph wnwpwibp | 9< wnnith 0 1 0,0
33141211 Cobas e 411 Elecsys 2010 Ynpwu udniph wlinplibip <L wnnuth 0 1 0,0
33191310 Unjws bdnigundwt Julnuwhl tnpdwtine < hwun 0 2000 0,0
33191310 Upjws tdnigwndwt Juwlnuwht thnpéwtine < hwun 93,6 1000 93,6
33141211 Uubinibip Jununwibipiiph hwiwp < hwwn 25 2000 50,0
33141211 Unwwunnp Julnunwjubipubiph hwdwp < hwwn 0 2000 0,0
33211280 Ppnigbingh npnodwl phup pun Nwjp hubinbjuntuh 24 uu hwun 2800 2 5,6
24321860 Ugnunwlwl ppnt uu thup 2500 2 5,0
24321240 U-puh|ni-Yuyswhnya Ju thup 38000 2 76,0
Ufunwhwlhg hbnnly ujniptip /nhntghinhdbphjwdnuhnuih
25T piaphn(2UU)- 3,5%, NN-phu-(3-wdhbnwpnuhpynnbghwopt - | U | hap | 10000 12 120,0
559 (9 %) -
24451141 Utunwhwtihg hbinndy hjm;a:n/qlmmwpwmbhhr} 20% uu (i 19800 2 237.6
funwinye
24311530 2nwdtih whpopuhn uu thwp 1000 30 30,0
33691162 Uwnpndwwinnjwyqlip-WH XP-300 uu hwun 40080 2 80,2
33651143 Unwppnt uu thip 2500 1 2,5
24951400 hdbipuhn jnin 1004 uu hwwn 4500 5 22,5
33121270 Swlwphninhlwiht ufwywnwlutip uu hwn 25 2000 50,0
33211500 Lhhynpwlinbp uu hwwn 1000 25 25,0
24321250 Luhin uu thup 2500 20 50,0
2431311 hanuipnwhy uwhpuin uu hup 2500 20 50,0
Cunuwdblp 27536,4
APELULUL MPSNR3LLLE L 4PUULL3ULUSHL L3NRRGF, UUreUdNPIRT LG
30197620 3nue, A4 $npdwinh 1/21x29,7/ < hwun 0 550 0,0
30197620 @nwnp, A4 npdwinh 1/21x29,7/ < hwun 1600 200 320,0
35821400 “Hngubip uu hwwn 6000 6 36,0
30192739 fdninp, A4 $npdwinh gniiwdnp uu hwwn 1500 10 15,0
30192780 Eowligws uu hwwn 300 100 30,0
22811190 Uwbhnwpwlwl gppnyp uu hwun 100 400 40,0
22851200 fenpwwwlwlubn, npinbn ppbnp thwgynid 6o onwlubipny U uu Fiiii 1000 25 25.0
pnph wipwltibin/dtd/




39263200

Spwublywlwiht ghpp uu hwwn 1200 20 240
22851200 Fnpwwwbwl uu hwin 750 30 225
22851200 Rmpwwwliul UL | hwm 400 50 20,0
22851200 Fnpuuwtul UU [ hwn 200 50 10,0
22851100 Upwquluptibn UU | hwn 180 160 28,8
22851200 fnpuwwwbwl,ynhdbpwht RPwnwlp, $uy uu hwun 13 12000 156,0
30197220 Ywphsubip, dptisl 20 RpRh hwdwp uu hwwn 650 10 6.5
30197220 Ywphstin, dhusl 20 phipphg wyby uu hwin 1600 5 8,0
30192111 Fwlwp, gnwdwh,pwpdhlh uu hwwn 400 50 20,0
30192121 Sunhlwdnn qphs UU | hwn 100 1200 120.0
30192125 Uwplbplibn U0 | hum 200 50 10,0
30192125 Uwuinhwntibp Uu hwwn 100 400 40,0
30192133 Uphsutip uu hwwn 300 30 9,0
30192160 Cuphlutip uu hwwn 250 150 37,5
30141260 Swpdhs-npwdwpynuihl dhpbbwtbph dwwwybliubip uu hwwn 150 1000 150,0
30192100 MHiwnht hwuwpwly uu hwwn 100 20 2,0
30199710 Opwplibip Ju huwtn 15 4000 60,0
30197100 Ywphsh dbnwnuiwnpb Yuwbp,hnpp uu hwwn 100 200 20,0
30197112 “wiphsh dbunwnuiwnt Yuwwtn,dhoht UU | hwn 200 200 40,0
30194810 Luwinliubip uu hwun 200 20 4.0
30192210 Ninthdbipwht huplwuisnit dwuBy, 4830x1000 uu - 1100 20 2.0
nbnbuwlwl, ikd
30192710 Unubidwdwinhw, gpuiublywluiht uu hwwn 400 400 160,0
39141100 Uduwgptiph nwpwlutip uu hwun 4500 5. 225
30141200 Lwiwuwnp, gpwubbywluwht uu hwun 4500 5 22,5
30199400 Unubidwuywinduwd hud Gusnu pinp uu hwwn 200 30 6,0
30199400 Unutidwwwinywd Yuwd Gusnit pnine uu hwwn 250 30 7.5
30199430 f@nin tpnuwiubiph, npguiljubipny uu hwun 1500 50 75,0
22811130 Opwwnbinnp uu hwwn 3000 10 30,0
39263600 Spswunnuh, gpuublywlwht uu hwwn 600 6 3,6
30192111 Bwuwph pwpahlubip uu hwwn 350 10 35
39221490 Uyniugqubip uu hwwn 300 10 3,0
Cunwikup 1609,9
SULSEUULUL b UULLPGPELPY L3NRBGP, UMPULLLEE L UUPLUINPNRGLED
24451141 Utuinwhwting dheng 1y < hwun 700 200 140,0
39831280 Uwywlih dwppbnt hbnny 9< | hum 400 300 120,0
39221410 Ughy < | hun 1050 20 21,0
39221400 Uty - uwing < | hun 3000 90 270,0
39221350 Pwdwlw dhwliquijw oguinwgnpduiwl 9L hwun 5 8500 42,5
39224331 "y 10 | G< hwwn 700 10 7.0
39224331 "ty 51 < hwtn 500 10 5,0
39224333 "y dbnwiniw / ghtiwyun 10 | < hwwn 1500 12 18,0
39713410 Tny| 2dwppuwiny < hwun 4000 10 40,0
33761100 2niquipwlih prine < hwwn 100 660 66,0
33761100 2niqupwlih pnpe 2 skpn 9< hwun 150 3600 540,0
39221420 2niquipwih funqutul < | hun 800 120 96,0
33761400 (3npb wbabnnghl bplgbipwn / 2- wal 21 ud/ L hwun 800 450 360,0
39513200 fInpl uwldwl hhjwlinh hbunwgnundwl 9< hwun 3500 60 210,0
33761300 fdnpt upphs funhwtingh 2 otipun 9L hwn 350 500 175,0
39831283 hUuplwdwpphs nnyih onp < hwwn 500 50 25,0
39831243 Lqwgph thngh a< U 800 750 6500,0
39812410 Ywhnyph jwp q< hwwin 700 12 8,4
39221400 Ynnuin 1| < hwwn 600 40 24,0
39713410 Swunwly dwppnn huptwdwpphs nny| /pwiiynn/ QL hwwn 8000 35 280,0
39831283 Cwwnwlh jwp puwdpwljw < hwwn 1300 120 156,0
39835000 Lwwnwlh thwyin Q< hwwn 1200 40 48,0
39831246 Zhnnil obwn < | fhup 500 1000 500,0
39831246 <bnnuy ofwn 0,33 < hwwn 500 10 5,0
18141100 Qbinuing nbwnhub < hwun 250 1100 275,0
39831241 Qtinph ofwn < hwwn 220 350 77,0
39221400 Uhypn$hppw < hwn 400 10 4,0




39531800 Luwhuwdnunph qnpq < hwun 2500 10 25,0
34921440 Mwundwub nwppw Ywihwphgny / Yinp funpp 80; < hwwn 7000 4 28,0
34921440 Mwundwub nwppw Yuithwnhgny /puinwibilynis 10y < hwwn 2300 15 345
34921440 Mwundwub wwppw Yuithwphgny /pwnuwilynd 2 < hwn 700 5 35
34921440 Mwundwub nwppw Guithwphgny /pwinuitiyynds 40; 9< hwwn 4500 5 25
39221400 Mwundwub nwppw Yuwthwphgny 60 < hwn 7000 14 98,0
19641000 Mnihtehibwhl wwply pwthnth 60, < hwwn 200 1000 200,0
19641000 Mnjhkphibuwiht wwpl pwihnth 120( < hwwn 300 50 15,0
19641000 Mnihkehibliwht wwply wnph wwpl 30 | K< hwn 300 1150 3450
39831246 Uwlhwilignyg dwppbint nwfupuw < hwwn 330 820 270.6
33721100 Uwithphbnt wdtih < | hum 150 2000 300,0
39221400 Ubnwuh |wp < hwwn 150 100 15,0
39831278 Uwjwuph |Jwguwl htinniy < {hup 350 2250 787,5
39221490 Uynitig wynuwihb dhind/ dbinwnwlywl_ uwnitig < hwun 150 330 49,5
39831240 Linp /dunfty < thinp 130 6500 845,0
39831240 L0 1 /dwty < hwwn 250 200 50,0
39811300 Onh pwpuibgnighy 9< hwwn 450 220 99,0
24961200 2inp 1| UL | hwn 150 660 99,0
39831210 Uwwup . htinnuy 1y uu hwwn 300 333 99,9
39831240 Uwbhwugnyg dwpibint dhe nwhuyw uu hwun 300 330 99,0
33761100 2niqupwlih pninp 2 stpn uu hwn 150 665 99,8
33721100 Uwihpbnt wékih BIC uu hwwn 130 765 99,5
39513200 f3npb uwlwl hhywinh htnwgnudwl uu huwn 3500 28 98,0
44611130 @pywdth funlwdwgnighs UU | hwn 6000 100 600,0
44423680 Fpywdliwiht hwdwlwpgh dwu (dwuuwswith) uu hwwn 28000 25 700,0
18531100 Lybpubip uu hwin 3000 333 999,0
39831243 Lquwgph thngh uu Yg 800 100 80,0
31161240 Ynunwlhstbip uu hwwn 145000 3 435,0
38311100 Elbupnbwhl (obng UU | hun 1960 i 2.0
39515440 Shiprnwywpwgnyp ninnuhwjwg uu s 6500 38 247,0
42911180 fORyuwdth Gugwluiwbh qunhs thwluwting uu hwwn 290000 1 290,0
Cunwidktp 11249,1
<UVULUrehLLN, KUV ULUNMGRUSPL UUFRUINPARUTLER & MUPUGULED
30211230 Swdwlwnpghy nwlwqd wnwug dnbpunnp < hwn 0 15 0,0
30237490 Lwdwlwpgsh dnbihinnp < hwwn 0 20 0,0
30239170 Puqiwhniiyghntiwg jwabipuwht wwhs / guiligwjhl XL hwwn 0 6 0.0
30239170 Puwquwnitilghntiwy jwqbpuwihl nwhs / ng guiiguwit < hwin 0 3 0,0
30232231 Cwdwlwpggh Ynow ulwlwnwl /4TB Q< hwwn 0 2 0,0
32421100 Swlgwiht dwiniju cat 6e K dbtunp 0 2135 0,0
31321110 Skuwlughlh dwinifu < dbwnp 0 1000 0,0
31321110 Ujbhwwph dwiniju < dbwnp 0 300 0,0
44322300 Lbnwunuh dwnibu < dbuinp 0 500 0,0
32551150 Luwthnnh jwp 9< | hum 0 20 0,0
30237132 Suhgh wwp (USB) < | hun 0 15 0.0
32421300 WiFi uwpp < hwwn 0 10 0,0
30141380 RFID shyy G< hwin 0 200 0,0
30141380 RFID shuy &wjiwgpynn Q< hwwn 0 200 0,0
30216200 RFID shwh dwjiwgpnn uwpp < hwwn 0 1 0,0
30141380 Ricoh325sfnw pwippphoh shu Q< hwwn 0 10 0,0
44322200 Cwidwlwpgswiht uingdwl uwppht dhwgynn dwintu (220v) [ a< hwun 0 100 0,0
30237112 Swiwlwnpgsh hnuwlph ubingiwb uwpp < hwwn 0 20 0,0
32421300 SBwlgwjhl pwdwbwpwp QL hwun 0 20 0,0
30197231 Hhulih S < | hun 0 5000 0,0
30237460 Unbnuwowp < hwwn 0 20 0,0
30237460 Uwnbinuwpwp wijwp QC hwwn 0 3 0,0
30237411 Swdwlwpgswiht dyuply < hwwn 0 20 0,0
30237412 Cwiwlwpgswhts dyuhl whpwp < hwn 0 3 0,0
30232231 Yngun uljwywnwl SSD K< hwtn 0 10 0,0
31681150 <hannnipjwt dhlpnufubidw 24C32 Q< hwwn 0 10 0,0
30237113 Rj45 nlibiljnnp < | humn 0 1000 0,0




30237111

Utnigdwl dwpunlyng < hwwn 0 3 0,0
31151120 Ubfuwthwl ubinguiwl uwpp Q< hwwn 0 3 0,0
30232231 Upunwphl Ynoun ulwiwnwly < hwwn 0 2 0,0
32324900 <bnnwunwgnyg 9< hwin 0 20 0,0
31221270 Ujbhwywph pudwbiwpw < hwwn 0 5 0,0
31221270 Ujbhwyuwph dhwgnuubp < hwwn 0 30 0.0
31221270 Ujbhwywph hwgnuubip < hwun 0 30 0.0
44322100 Uwinifu hwdwlwngsh, UTP cabel UU | dtunp 190 305 58,0
Cunwdbp 58,0
Chuuwpwpnieput Uk oquugnpdden @ inwbplip & iy
44111412 Ukpngny tbipy q< hwwn 800 50 40,0
19121700 Uphbuwnwlywl Guigh a< | qou 6000 30 180.0
39837000 Uyt wngny / puiljh A< | hwwn 2500 10 25,0
44511110 Pwh funpp < hwun 1500 3 4,5
42415220 Plnbwuwywy < hwwn 18000 3 54,0
42415220 Plintwuwywlh wihy < | hwwn 3600 3 10,8
39241130 “hwlwlubp pnph < | hwwn 1500 10 15,0
39241130 “utwlubp preh /bqdh/ < | hwn 40 300 12,0
42121270 Thuwhnph wndy Ynninnyrny6unksii F50 < hwwn 75000 2 150,0
44221141 “Hwl pnliwly < hwwn 1200 30 36,0
44423100 “nwl quitig biblunpwlwl < | hwwn 2000 2 4,0
44521120 “twt hwlwl bypnpnwl < | hwwn 3000 50 150,0
44521121 “tnwl thwlwp dhently 8 ud G< | hwwn 2500 70 175,0
31711160 Eilnpnn,_Ubpdh 9<_ | wnup 300 30 9.0
31711160 Eblwnpnn 2,504 < hwwn 40 150 6,0
31681900 Eblunpwlwt wynuhs (nnky) 9< hwn 40000 1 40,0
44423680 BpYwdth upqwynphy < | hwin 8000 10 80,0
30192232 hUplwlusnil dwuunsl_(ohts) < | hwmn 600 20 12,0
44820000 Lwp Lunwpwlibph < | g 5490 5 27,5
44423680 LbUun ghbwpwpulwl < | hun 1500 5 75
39299320 Lngqupuwth huwjtiih wnwtg opowtiwlh I | hwin 5000 5, 25,0
44831500 Lndhs 5 < | hwwn 5000 4 20,0
44411300 Ljwgwpwl < | hwwn 25000 5 125,0
44423680 Onuh bypn nawt < hwwn 700 100 70,0
42131470 Onpwlh dbwn. dwubip < hwwn 1490 8 1,9
39132220 Ywluhg < hwun 200 60 12,0
39151220 Ywhnyph dwubip /wpy Ywhnyph/ < hwwn 200 100 20,0
39151220 Ywhnyph Jwubip /wblynibwl bplwpjw hnpp G< | hwin 40 100 4,0
39151220 Ywhnyph dwubp /pnbwly/ S< [ hwin 300 30 9.0
39151220 Ywhnyph dwubip /nupwlwwywhhy/ < | hwwn 1500 30 45,0
39151220 Ywhnyph dwubip /dnup/ < | hwwn 300 100 30,0
39151220 “whnyph dwubip /nnp/ < hwun 600 50 30,0
39151220 Ywhnyph dwubip /thwlwt/ < hwwn 500 70 35,0
44521100 YUnnuybip < hwwn 2000 3 6,0
44531193 Ynyninnt wilyniuwly < | hwwn 250 20 5,0
44163200 Ynyninnt wlignud < hwwn 350 6 21
44163200 Ynjnuyni Bnwpwiptuhy q< hwwn 600 9 54
44163130 Ynjnunne funnnduwly F110 0,25 d 2,504 < qdu 500 5 2,5
44163130 Ynjninne funnnduily F110 0,254 1,504 < qdu 300 3 0.9
44163130 Ynyninnt funnndwly F110 0,5 d 2,504 9< qdd 900 5 4,5
44163130 Unynunne funnndwl FI10 14 2,500 < | qau 1500 5 7.5
44163130 Ynyninne funnnduwly F110 2 J 3,204 a< qod 2700 5 13,5
44163130 Ynjnunne funnnuly F110 3 d 3,244 9< qéd 4000 2 8.0
44163130 Ynjninni funnndwly F50 0,34 1,500 < qdd 280 3 0.8
44163130 Ynyninnt funnndwly F50 0,50 1,500 < qdd 350 3 11
44163130 Ynjninnt funnngwly F50 10 1,504 K qdd 550 3 1.7
44163130 Ynyninni funnngwly F5072 1§ < qdu 850 8 6,8
44163200 Ynjninnt fuguls < hwn 60 2 0,1
44163200 Ynjninne dnipin < hwn 320 6 1.9
44163200 Ynjninnt nihghw F100 < hwn 420 5 2,1
44163200 Ynjninnt wnnu 10 dbinpuiing < hwtn 2280 2 4,6




44112730

“unpnn ulwdwnuwl 9< | hwwn 700 50 35,0
44511700 Lwppugnipp K hwwn 2000 4 8,0
24911300 Sbnnd by < | hun 800 20 16,0
44831300 Lbpdtnhly/ wyunnljuwip gpdwlywniu 9< hwwn 1000 10 10,0
18141100 abinuing pwliynpwlwl G< qnyg 300 100 30,0
39839300 Qub phwly < hwn 5000 6 30,0
39541170 Bnwwl < dbnp 300 70 21,0
24911500 U unuptis 100g < hwwn 2000 30 60,0
44191700 Ubwip 5 4 < hwn 2000 3 6,0
9211620 3nin 2 nwlnwlh 1 < | hwwn 2500 3 7.5
44423680 Luwuwwinlyw $hgnintih < hwwn 300 10 3,0
44111413 Lbpy wgbunnbuwght hhdpny kulhd Guid hwdwpdtp < 4g 4000 25 100,0
44411740 Lunwlyntp < | hwwn 35000 5 175,0
44411740 Luwnwlyntiph wy. Yuthwiphg < | hwwn 4000 50 200,0
44411751 Luunwlntiph gph nwnwih Ynduwbln/pwsniyh LS hwn 5500 60 330,0
44521100 Cybigwp nnwl < hwwn 10000 10 100,0
42131100 Nuwunnihwtih thwlwl /bdpn < | hwwn 600 100 60,0
44423650 Nuwlih wnihdbpwhl (nbnptt dwywbtiwpkibn) S< | hwwn 600 20 12,0
31221242 M nynuyby /60*40 < hwwn 6 1000 6,0
44163121 M. funnnduly F20 $nigwjwugwin < qd.d 500 40 20,0
44163121 M. funnnyuly F25 $nigujwuywin < qd.d 710 40 28,4
44163121 M. funnnyuiy F40 $nigujwugun 3< qd.d 2000 12 24,0
42661200 My funnnywlih gndwt uwpp 9< | hwwn 20000 1 20,0
44531191 NUdjw funnnduwl; 0,844 < | qau 1500 60 90,0
44531191 Mnudjw funnnduwly 0,160d < | qau 2500 120 300,0
44163200 MNtidjw funnnwlih whilyndwl 90 , 0,800 < | huwn 500 20 10,0
44163200 MNudjw funnndwlh whilynwl 90 , 01640 < | qad 700 6 42
44163200 Mnudjw funnnywlh bnwpwptuhs 0,1644 < hwuwn 700 6 4,2
44163200 MnUdjw funnnywlh bnwpwigtuhy 0,844 < hwwn 500 10 5,0
44163200 Mnudjw funnnydwlih gndwt wnhwn) < hwun 250 20 50
44163200 Mudjw unnnywlih Ygwdwa 01648 < | humn 700 30 210
42121150 Mndy < hwwn 16000 5 80,0
44191700 Mny pntuigh < hwwn 1200 20 24,0
44191700 Mg pwhh < hwwn 1000 S 5,0
24911200 MUU unuhtd 0,94g < | huwn 1500 5 75
44531160 Munnunwly/ cemeyxa < hwwn 3 2000 6.0
44511330 Munnunwlwhwih hwywpwdnt < | hwwn 8000 5 40,0
42131170 Sbnngdwl thwlwl < hwwn 1500 85 127,5
39721510 Qnuinwpuwgnighg < | hwwn 50000 2 100,0
42131170 2ph thwlwt / 3/4 < | hwwn 2000 10 20,0
42131170 2nh thwlwb /wnyn < | hwwn 2000 30 60,0
44411110 2ph fuwnbhswihl Snpwl 1 nbnutih I | hwwn 3000 100 300,0
44411120 2ph dnpwly iplnbinutih < hwun 10000 30 300,0
44411120 2nh dnpuwiy bplnbinuitih wwinh Ypwjh < hwun 10000 20 200,0
44163170 MMt funnnywl dnwnny wdpwynpywsd Glydnn, bply 60 ud | < qdud 1000 150 150.0
44163170 Mwnhub funnnduwl uphlntihg < qou 600 100 60,0
24951130 Uhihlynti 2804 pwithwtighly < | hwmn 1000 120 120,0
30192233 Uhihlntlb puspaly annhly < | huwn 150 20 3,0
42131490 Up$nt/ bplupnd < | humn 1200 100 120,0
44191700 Uthpbij-punip nitipybpuwy < | hwwn 3000 2 6,0
24911200 Unuhlid Eunpuhn 6 U < | 1000 5 50
24911300 Unuhtid Uwhphp Ywd hwiwpdbp q< L 2600 2 52
24911500 Unuhtd pwph 0,8lq < hwn 4500 2 9,0
44192100 Pputhnin shtiwpwpwluwl 8500; < hwwn 2000 20 40,0
42511124 Onwligph Gwnwpwp < | hwwn 800 25 20,0
39714100 Onuihnfups < | humn 7000 ] 28,0
44511330 £l wnnunwlwhwl 20V < | hwwn 40000 3 120,0
44511370 Bl wnnunwlwhwuh gfublubp < | hwwn 400 10 4,0
43121190 <npuinhy <[ huin 50000 3 150,0
44511400 <npwnhsh quyihlnt F5 | hwwn 600 10 6,0




44511400

Lnpwnhsh qu hynu F6 < hwwn 800 10 8,0
44511400 Snpwnhsh quyhlynt F8 9< | hwwn 1000 10 10,0
44511400 Snpwnhsh quyhynt F10 < | hwwn 1200 10 12,0
44511400 <npwnhsh qu thiynu F12 K | hwwn 1500 10 15,0
31641217 Gn$pbih ubndwl FI6 < | hwin 20 200 4,0
31641217 SGn$pbih ubndwl F20 3< | hwn 25 200 5,0
44511100 Ubwnh dypwin 3< | hwwn 3000 3 9,0
44511370 hwpuingubiph hwywpwdne < | hwun 3000 2 6,0
44191700 fSpywdlh jupqunphsh dhgwnhp < | hwan 100 100 10,0
42418100 dbpbjwlh 6bywl uu Ubnp 1050 152 159,6
44221140 Upynuihubs pbndnuwdngwunq nnin uu u? 120000 4,8007 576.1
44221100 Uynuihub RpUnywdpowyny wwinnthwl uu ? 90000 4,1966 3777
44221100 Ubunwnwuywub wwinnthwt uu hwtn 25000 1 25,0
44221120 Uwwlb hwpebp bplobpn Uu u? 10000 2 20,0
Cunwibup 6644,5
ELGUSPULUL UUPLULNPARUTLG, MUCLUIULLP, 3NPObLLLR
31531660 Lbin jwdy E27-30W < hwtn 0 30 0
31531660 Lbn jwiy E27-50W 9< hwn 0 30 0
31531660 LED ywdu tbpnpydnn < hwun 0 50 0
31531660 LED jwdw Ubpnpynn < hwwn 0 300 0
31531660 LED |wiy wpwwpht Q< hwun 0 300 0
31531660 LED |wdy wpuwphl < hwwn 0 30 0
31531660 LED jwiy wpuinwpht < hwtn 0 70 0
31531660 LED jwiy 9< hwwn 0 150 0
31531660 LED |wuy < | hum 0 100 0
31531660 LED jwiy < hwwn 0 300 0
31512300 Lwdy gbpbluwht < hwn 0 50 0
31512300 Lwdy gbipblwyhu < hwwn 0 50 0
31531210 LED |nwwuwnni 220V 100W < hwun 0 10 0
31531210 LED jnwwuwnne 220V 150W < hwn 0 10 0
31531210 LED |nwuwinnt 220V 60W q< hwun 0 60 0
31531400 LED gwh 220V 120W < hwn 0 2 0
31512300 wingbl jwidyy 12V/120W < hwwn 0 2 0
31512300 Lwngbl jwy 24V/25W < hwun 0 10 0
31512300 Swingbili jwiy 22,8V 50W,G6.35 < hwn 0 10 0
31512300 Swingbi jwiy 24V 25W, G6.35 < hwwn 0 10 0
31512320 Pwlunbiphnghn, widy < hwun 0 50 0
31512321 Pwlwntiphnghn, jwiy <L hwwin 0 50 0
31512320 Mhgtiynywinnp < hwwn 0 20 0
31684400 Ywpruwl Tnbn Q< hwn 0 30 0
31684400 Hwprwly Tinbin hnn. 9L hwn 0 50 0
31684400 Hwpnwl 2unkin hnn, < hwn 0 30 0
31211221 Upunwpht wigwinhg Tunbin < hwwn 0 30 0
31211221 Upunwphli wlgwinhg 2unkin < hwn 0 30 0
31211180 Ywhundh wlgwnhg 9L hwwn 0 20 0
39713510 Upnniyh obipdwhl wugwinhy < hwun 0 15 0
31211221 . by inwpwignighsh wligwinhy 1 nbn < hwwn 0 50 0
31211221 £y inwpwignighsh wligwinhs 2 wnbin < hwun 0 50 0
31211180 Uginndwin wbigwinhs nhs 220V 16A < hwn 0 20 0
31211181 Uginndwin wigwinhs uhg 220V 25A < hwwn 0 10 0
31211182 Uduinndwwn wlgwinhs nhs 220V 32A < hwwn 0 10 0
31211340 <nuwliph Ywpquwynphg 220V-110V 500VA < hwwn 0 3 0
39715200 £} tnwpwignighsh jninny G< hwun 0 15 0
39715200 £ wwpwignighsh thynyh < hwun 0 10 0
42211140 Funhwlingwihti Jwnwpwl Ubpnpgnn 4unbin wywlb < hwin 0 2 0
39715100 ElEyupwlwl ikl < hwun 0 4 0
44423680 £ jwph Swjpwlw) 1,5 <L hwin 0 200 0
44423680 Ep jwph dwjpwluw 2,5 < hwwn 0 200 0
44423680 B (wph Swypwlw) 4 3< hwwn 0 200 0
44423680 £ jwph dwjpwljwy 6 < hwun 0 200 0
44423680 By jwph Swypwlyw 10 < hwtn 0 200 0




31341200

b jwph Ykdupy 1,5 < hwwn 0 100 0
31341200 Eqwph Yikdupy 2,5 < hwwn 0 100 0
31341200 Ey jwph Ybdupl 4 L hwun 0 100 0
31341200 E jwph Ybduhly 6 < hwwn 0 100 0
31331280 Ellup1x15 < ubinp 0 200 0
31331280 Eljwp1x25 Q<L dtiinp 0 200 0
31331270 Eluwp2x15 K< dbwnp 0 200 0
31331280 Elwp2x25 < dbunp 0 300 0
31331290 Ejwp2x4 < dbunp 0 200 0
31331280 bwn3x25 < | dtanp 0 200 0
31331280 b jwp3x4 < dbwnp 0 100 0
31685000 EpYwpwgdwt hwnnpnwwph qiluhly 3 winbin < hwwn 0 40 0
31685000 Spywpwgdwt hwnnpwwnh gy fuhl 4 nbin < hwin 0 10 0
31651400 Ubynwhy dwwywytl < hwun 0 300 0
44423671 Snpk P16 < dbwnp 0 200 0
44423671 Sndpb D20 q< dbwnp 0 200 0
31686100 Bnuiihly hnnuiligdwl Ynnnipny < hwwn 0 200 0
31211221 Swinddw i (nunshl) 220V 10A < hwwn 0 5 0
31211221 $nwn inghs 220V 16A < hwwn 0 5 0
39714200 Onnpulpg uu hwun 270000 1 270
Cunwdbbp 270,0
dunsLhe
9132200 PhUght, nbgnuywn < | hup 510 16000 | 8160,00
9134200 “habijwjht Jwnbihp, wdwnuwht Q< Lhuip 0 6000 0,00
9134200 Hhabiwihl Junbihp, wiwnwhl < | jpunp 540 2000 1080,00
Cunwdbup 9240,0
U4SNUBLLELULLMh MULLUSUUUUGE
31421100 | Uwpunlng wyunndbpbuwh UU | hwn | 40000 | 4 160,0
Cunwdbtp | 160,0
uthiusuveusr
45231119 Cbuph dwubiwlh Japwiinpnquwl wpfuwnwlplbn <PU | npwd | 163160700 1 163160,7
~ THUERN, WWAAhWTUERR [ hwpwUhg punmphsui
45421110 wbinunpnud, hudwuwpwlnng uu npwd 997500 1 997,5
45331113 Onnpuwlydwt hwidwywpgtiph nbnunpiwt w)luwnwlplb; Uu | npwd 166000 1 166,0
P e e pphcwpupni SwbuAARBeNT oy 1 apws | 200000 i 300,0
wdwp
Cunwdbup 164158,2
DUNU3NRI3NKLLL
79821170 Suywgnwljwl U wnwpdwl dwnwjnyeinitibp L hwtn 3659000 1 3659,0
s0s21320 | SPbubmuslnguhl s hudupugandapuanenid, g T n | 24840000 | 1 24840,0
ngliswgnu
71351540 Stuthluwlwl huynnnipjwl Swnwjnipjniiibp < npwd 770000 1 770,0
50111130 Udunndtipitiuuitinh Ybpwlinpnguwl Swnwjnipjniiibn < npwy 4000000 1 4000,0
79211150 Uniphinnpwlwl Swjwnnipniu 9L hwun 0 1 0,0
79411140 Uwpnlwyht nbunputibph junwwpdwl Swnwjnipniu uu npwd 990000 1 990,0
79211210 Cwquywhwlwl Jepwhulynnnip)ni uu npwyd 990000 1 990,0
79111100 Ppwdwpwlwlwl Swnwjnyejntitbp uu npwyd 1000000 1 1000,0
32411130 Lwdwguwlig uu hwin 936000 1 936,0
32411130 Lwidwguwg uu hwwn 60000 1 60,0
65311100 Eibyunpwlwlngejwt puiphunug uu npwd | 85640000 1 85640,0
65211100 Swgh pwofunid Ju npwd 17700000 1 17700,0
65111100 hudbiniu gph pwigfunid uu npwd 12000000 1 12000,0
64211120 Uhgpwnuwpwjhli hbinwfunuwht dwnwyniejniuttp uu npwd 1170000 1 1170,0
90511120 Hblguinuihli wnph huiwpwgniwl dwnwjnyejntip uu npwd 2700000 1 2700,0
50421100 Pl uwngBnh dEpuwbinnng full & uuwhuulbiuG Uu | npws | 6000000 1 6000,0
__dwnuinipiniilitp
50111300 Ubdwnnninh Jepwtinpngdwl SwnwjnipjnUbn” Ubpunjug uu hutn 80000 1 80.0
Untnwdnud b hwywuwpwlpnnuf
50111180 Uyuinndbipbiwlibiph (ywguwt dwnwjnyejniitibp uu npwd 100000 1 100,0
50851100 Ywhnyph YEpwlnpngiwl Swnwjnyejniutibin uu hwwn 980000 1 980.0
45511100 Ugunnwanwpuwljh Swnwjnip)ni uu hwtn 100000 1 100,0




50751100 dbpbwlubiph inpngdwt Swnwinipjniu uu hwwn 997000 1 997,0
50311240 MNuunbbiwhwlnn uwppbiph Ybpwtinpnguiwl dwnwjnyejniutbn | UU hwwn 990000 1 990,0
72212300 Mﬁwnqhwhmhmgdmb Swnwjnipyniu uu hwwn 884000 1 884,0
72411110 Ywypkobipniud hwnwpwpnipynUUEph inbinunpdwt uu il 904000 1 904,0
Swnwinyeinil
79521100 Nwbbbwhwdwl Swnwjnip)ni uu hwwn 750000 1 750,0
50531150 Swqujht uwppbiph Wwhwwtidul Swnwynipyniu uu hwn 300000 1 300,0
90921300 Unlbintbiph nbd wwjpwph Swnwinipjniiibp uu hwwn 480000 1 480,0
79341100 Sndwgnuiht dwnwjnyeiniu uu hwwn 700000 1 700.0
66511180 Swndhgubipny thnfuwnpwdhgngtbiph wwwhnywgpiwb U A 96500 ] 9.5
nbfuguidwl Swnwinye|niu
92421100 f3tipplipnud hwjnwpwpnipjniiibiph nyugpiwl dwnwjneyns | UU npwd 956000 1 956,0
50341500 Utnwgnipjwl wbuwfughlubiph uywuwplnus / UOU-SOS Ju npwyd 180000 1 180,0
64111200 Pnutnwh dwnwinipjnibibp’ Guiyws Uwdwlutiph hbin uu npwd 150000 1 150,0
79951100 Uhgngunnulutiph htin Yuiyws Swnwjnipnitlibp uu npwd 994000 1 994,0
50311300 <alhy- ""““"“”“"“:‘hi"i"":‘:;“h"h inbuLpLlul UU | npws | 220000 1 220,0
—uwwuwplng
66131100 Updtipnpliph htwn Ywwyws dhgunpnnipjwl Swnwynipniu uu npwyd 72000 1 72,0
programming services of systems and user software
72211100 /hwdwywpgbph L oquwgnpdnnh dpwgpbiph dpwldwl uu npwd 3390000 1 3390,0
nwiniyein <O
programming services of systems and user software
/hwdwlwnpgbph L oguwgnpdnnh dpwqnbinh Wpwldwl
72211100 1500000 1 11500,
g bumuqmrajmhbbn/t[humanthh wnnnowuwjwhwlwl o L i %00
hwidwhbiwnab wwwuwnbngg-Undbn
75241100 Nunhlwlinipiub Swnwinipyniiibiph / RUpwUjnyabiph wdtlopjw uu i 600000 1 600.0
Wwhwwlnein
75241200 Nuuhlwbnipjwl Swnuwynypjnititibin Ju npwd 996000 1 996,0
85141240 Pezhulit 1wnnnw;rm:hu’d1bbr;huunqdhg gt UU | npws | 900000 1 900,0
wnwinyg|n
71631110 Uwppbiph unniqiwt dwnwinipjnilUbn 7 uwng. nbfu. unnignid, uu i 850000 1 850,0
nnquiswihnid b swihwgpnud
Pdawlwl hhduwnlubph Ynndhg dwwnigdnn Swnwnip)nit/
1 d 25137000 1 25137,0
e Uhopnidhhbuwpluwihtl Swnwinpini ol Bl
50111130 Uyinndbipbliwtibiph Jbpwlinpngdwt Swnwjnipjniiibin uu hwwn 100000 1 100,0
63721180 Swdwlwl opjEhuintibiph UnuhenphUguht/ Uuihqughnt uu S 6000 10 60.0
_dwnwinyeint
Cunwibkup 215921,5




